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Αβστραχτ

Χονσιδερ α σιτυατιον ωηερε περσον Α υνδερτακεσ α χοστλψ αχτιον τηατ βενε−

�τσ περσον Β. Τηισ βεηαϖιορ σεεµσ αλτρυιστιχ. Ηοωεϖερ, ιφ Α εξπεχτσ α ρεωαρδ

ιν ρετυρν φροµ Β, τηεν Α�σ αχτιον µαψ βε µοτιϖατεδ βψ εξπεχτεδ ρεωαρδσ

ρατηερ τηαν βψ πυρε αλτρυισµ. Τηε θυεστιον ωε αδδρεσσ ιν τηισ εξπεριµενταλ

στυδψ ισ ηοω Β ρεαχτσ το Α�σ ιντεντιονσ. Ωε ϖαρψ τηε προβαβιλιτψ τηατ τηε

σεχονδ µοϖερ ιν α τρυστ γαµε χαν ρεχιπροχατε ανδ αναλψζε ε⁄εχτσ ον σεχονδ

µοϖερ βεηαϖιορ. Ουρ ρεσυλτσ συγγεστ τηατ εξπεχτεδ ρεωαρδσ δο νοτ σποιλ τηε

περχειϖεδ κινδνεσσ οφ αν αχτιον ανδ τηε αχτιον�σ ρεωαρδσ.
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1 Ιντροδυχτιον

Χονσιδερ α σιτυατιον ωηερε περσον Α υνδερτακεσ α χοστλψ αχτιον τηατ βενε�τσ περσον

Β. Τηισ βεηαϖιορ σεεµσ αλτρυιστιχ. Ηοωεϖερ, ιφ περσον Α εξπεχτσ α ρεωαρδ ιν ρετυρν,

ε.γ. φροµ περσον Β, τηεν περσον Α�σ αχτιον µαψ βε µοτιϖατεδ βψ τηε εξπεχτεδ

ρεωαρδσ ρατηερ τηαν βψ πυρε αλτρυισµ. Ιφ τηε εξπεχτεδ ρεωαρδσ αρε συ′χιεντλψ ηιγη,

εϖεν σελ�ση ινδιϖιδυαλσ ηαϖε αν ινχεντιϖε το βεηαϖε ιν τηισ ωαψ. Τηε θυεστιον ωε

αδδρεσσ ιν τηισ στυδψ ισ ηοω περσον Β ρεαχτσ το τηε ιντεντιονσ οφ περσον Α. ∆οεσ

περσον Β περχειϖε περσον Α�σ αχτιον ασ λεσσ κινδ ιφ ηε εξπεχτσ περσον Α το εξπεχτ

ρεωαρδσ, ανδ � ιφ περσον Β χαν ρεχιπροχατε � δοεσ ηε ρετυρν λεσσ?

Τηερε αρε µανψ σιτυατιονσ ωηερε βεηαϖιορ σεεµσ αλτρυιστιχ βυτ ισ οβϖιουσλψ στρατε−

γιχ. Χοξ (2004), φορ εξαµπλε, δοχυµεντσ στρατεγιχ βεηαϖιορ οφ �ρστ µοϖερσ ιν α τρυστ

γαµε. Οτηερ εξαµπλεσ αρε χοµπανιεσ τηατ γιϖε Χηριστµασ γιφτσ το τηειρ βυσινεσσ

παρτνερσ ιν ορδερ το ιµπροϖε τηειρ βυσινεσσ ρελατιονσηιπ, ηοπινγ τηατ τηισ παψσ ο⁄

ιν φυτυρε τρανσαχτιονσ. Τηειρ βυσινεσσ παρτνερσ µαψ ωελλ υνδερστανδ τηατ τηε γιϖεν

Χηριστµασ γιφτσ αρε παρτ οφ τηε χοµπανψ�σ προ�τ µαξιµιζινγ ινϖεστµεντ στρατεγψ.

Τηε θυεστιον, ηοωεϖερ, ισ ωηετηερ τηισ κνοωλεδγε σποιλσ τηε περχειϖεδ κινδνεσσ οφ

τηε γιφτσ ανδ µακεσ τηεµ λεσσ ε⁄εχτιϖε.

Ωε αδδρεσσ τηισ θυεστιον εξπεριµενταλλψ ιν α σεριεσ οφ µοδι�εδ τρυστ γαµεσ. Ιν

τηεσε γαµεσ ωε ϖαρψ τηε προβαβιλιτψ τηατ τηε σεχονδ µοϖερ χαν ρεχιπροχατε ανδ

αναλψζε ε⁄εχτσ ον σεχονδ µοϖερ βεηαϖιορ. Ουρ ρεσυλτσ συγγεστ τηατ εξπεχτεδ φυτυρε

ρεωαρδσ δο νοτ σποιλ τηε περχειϖεδ κινδνεσσ οφ τηε �ρστ µοϖερ�σ αχτιον ανδ τηε

ρεωαρδσ γιϖεν βψ τηε σεχονδ µοϖερ.

Ιν ουρ µοδι�εδ τρυστ γαµε αγεντ Α, τηε �ρστ µοϖερ, δεχιδεσ ηοω µυχη οφ ηισ

ινιτιαλ ενδοωµεντ ηε τρανσφερσ το αγεντ Β, τηε σεχονδ µοϖερ. Αγεντ Β ρεχειϖεσ

τηε τριπλεδ αµουντ οφ αγεντ Α�σ τρανσφερ. Τηεν, α λοττερψ δετερµινεσ ωηετηερ αγεντ

Β χαν δεχιδε ον ηισ ρετυρν τρανσφερ το αγεντ Α ορ νοτ. Ιν τηε λαττερ χασε νοτηινγ

ισ ρετυρνεδ το αγεντ Α. Ωε χονδυχτ τωο τρεατµεντσ οφ τηισ µοδι�εδ τρυστ γαµε

τηατ δι⁄ερ ιν τηε προβαβιλιτψ τηατ αγεντ Β χαν δεχιδε ον ηισ ρετυρν τρανσφερ: Ιν

τρεατµεντ Τ−ΗΙΓΗ τηισ προβαβιλιτψ ισ 80 % ανδ ιν τρεατµεντ Τ−ΛΟΩ ιτ ισ 50 %. Ιν

βοτη τρεατµεντσ αγεντ Α βεηαϖεσ ιν α ωαψ τηατ σεεµσ αλτρυιστιχ ωηεν ηε τρανσφερσ α

στριχτλψ ποσιτιϖε αµουντ το αγεντ Β. Ουρ τρεατµεντ ϖαριατιον, ηοωεϖερ, χηανγεσ τηε

ποσσιβιλιτψ φορ αγεντ Β το µακε α ρετυρν τρανσφερ το αγεντ Α ανδ, τηερεβψ, ϖαριεσ τηε

χηανχε φορ αγεντ Α το ρεχειϖε α ρετυρν. Ουρ µοδελσ οφ ιντεντιον−βασεδ ρεχιπροχιτψ

τηατ βυιλδ ον ∆υφωενβεργ ανδ Κιρχηστειγερ (2004) ανδ Φαλκ ανδ Φισχηβαχηερ (2006)

πρεδιχτ τηατ αγεντ Α εξ αντε εξπεχτσ σµαλλερ φυτυρε ρεωαρδσ φορ α γιϖεν τρανσφερ

2



ιν Τ−ΛΟΩ τηαν ιν Τ−ΗΙΓΗ ανδ, τηερεφορε, τηατ αγεντ Β ρετυρνσ µορε ιν Τ−ΛΟΩ

ωηεν ηε ισ ασκεδ το δεχιδε. Ιν εθυιλιβριυµ τηε δι⁄ερενχε ιν τηε προβαβιλιτψ τηατ

αγεντ Β χαν δεχιδε ον ηισ ρετυρν τρανσφερ δοµινατεσ τηε δι⁄ερενχε ιν αγεντ Β�σ

ρετυρν τρανσφερ.

Ουρ ρεσυλτσ συγγεστ τηατ εξπεχτεδ φυτυρε ρετυρνσ δο νοτ σποιλ τηε περχειϖεδ κινδ−

νεσσ οφ αν αχτιον ανδ τηε αχτιον�σ ρεωαρδσ. Αγεντ Β�σ ρετυρν τρανσφερ (φορ α γιϖεν

τρανσφερ οφ αγεντ Α) δοεσ νοτ δι⁄ερ αχροσσ τρεατµεντσ. Τηισ ισ νοτ βεχαυσε αγεντ Β

δοεσ νοτ χαρε αβουτ αγεντ Α�σ αχτιον ατ αλλ. Αχτυαλλψ, ωε οβσερϖε α λοτ οφ αγεντσ

Β ωηο ρετυρν στριχτλψ ποσιτιϖε αµουντσ ανδ, ιν αδδιτιον, αγεντ Β�σ αϖεραγε ρετυρν

τρανσφερ ινχρεασεσ ιν αγεντ Α�σ τρανσφερ. Τηισ συγγεστσ τηατ ινδιϖιδυαλσ ρεωαρδ αχ−

τιονσ τηατ σεεµ αλτρυιστιχ, ιρρεσπεχτιϖε οφ τηε αχτορ�σ εξπεχτατιον οφ φυτυρε ρεωαρδσ.

Ωε χονχλυδε τηατ ινδιϖιδυαλσ ιν ουρ σεττινγ χονδιτιον τηειρ βεηαϖιορ ον ουτχοµεσ

ρατηερ τηαν ον ιντεντιονσ.

Ιν α νεξτ στεπ ωε φορµυλατε ποσσιβλε εξπλανατιονσ φορ ουρ �νδινγσ ανδ εϖαλυ−

ατε τηεµ ωιτη δατα φροµ ουρ θυεστιονναιρε τηατ παρτιχιπαντσ �λλεδ ουτ αφτερ τηεψ

µαδε τηειρ δεχισιονσ. Φιρστ, ουρ ρεγρεσσιονσ οφ αγεντ Β�σ ρετυρν τρανσφερ ον αγεντ

Β�σ ελιχιτεδ σεχονδ ορδερ βελιεφ γιϖε νο ινδιχατιον τηατ αχτυαλ (ποσσιβλψ ινχορρεχτ)

εξπεχτεδ φυτυρε ρετυρνσ σποιλ τηε κινδνεσσ οφ αν αχτιον ανδ τηε αχτιον�σ ρεωαρδσ.

Ηενχε, ινχορρεχτ ηιγηερ ορδερ βελιεφσ δο νοτ σεεµ το βε α πλαυσιβλε εξπλανατιον φορ

ουρ �νδινγσ. Σεχονδ, ωε αναλψζε τρεατµεντ δι⁄ερενχεσ ιν αγεντ Β�σ περχεπτιον οφ

αγεντ Α�σ αχτιον ανδ ιν αγεντ Β�σ εµοτιονσ. Τηε φορµερ σεεµσ ηαρδλψ α⁄εχτεδ βψ

τηε τρεατµεντ, ωηιλε τηερε ισ σοµε εϖιδενχε τηατ αππρεχιατιον (ανγερ ανδ χοντεµπτ)

ισ µορε (λεσσ) στρονγλψ εξπεριενχεδ ιν Τ−ΛΟΩ τηαν ιν Τ−ΗΙΓΗ. Εϖεν τηουγη ιντεν−

τιονσ µαψ α⁄εχτ ινδιϖιδυαλσ� εµοτιονσ, τηεσε ε⁄εχτσ δο νοτ σεεµ το χαρρψ οϖερ το τηε

περχεπτιον οφ αν αχτιον ανδ τηε ρεαχτιον το ιτ.

Ιντεντιονσ ηαϖε βεεν µοδελεδ ιν α νυµβερ οφ τηεορετιχαλ παπερσ. Ραβιν (1993),

∆υφωενβεργ ανδ Κιρχηστειγερ (2004), ανδ Φαλκ ανδ Φισχηβαχηερ (2006) ιντροδυχε

τηεορετιχαλ µοδελσ οφ ιντεντιον−βασεδ ρεχιπροχιτψ. Ιν χοντραστ το µοδελσ οφ σοχιαλ

πρεφερενχεσ τηατ αρε βασεδ ον ουτχοµεσ ονλψ (ε.γ. Φεηρ ανδ Σχηµιδτ, 1999; Βολτον

ανδ Οχκενφελσ, 2000), τηεψ (αλσο) τακε ιντο αχχουντ τηατ ιντεντιονσ α⁄εχτ τηε περ−

χεπτιον οφ οτηερσ� αχτιονσ ανδ, τηερεβψ, βεηαϖιορ.

ςαριουσ εξπεριµενταλ παπερσ ηαϖε φοχυσεδ ον τηε εµπιριχαλ ρελεϖανχε οφ ιντεν−

τιονσ. Α χουπλε οφ τηεµ (ε.γ. Βλουντ, 1995; Ο⁄ερµαν, 2002; ΜχΧαβε ετ αλ., 2003;

Χηαρνεσσ, 2004; Χοξ, 2004; Φαλκ ετ αλ., 2008) στυδψ τηε ε⁄εχτ οφ ιντεντιοναλιτψ, ι.ε.

ωηετηερ τηε σεχονδ µοϖερ�σ ρεαχτιον το τηε �ρστ µοϖερ�σ αχτιον ισ δι⁄ερεντ ωηεν τηε

�ρστ µοϖερ�σ αχτιον ισ χηοσεν βψ τηε �ρστ µοϖερ ηιµσελφ (ουτ οφ α νον−σινγλετον αχτιον
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σετ) τηαν ωηεν ιτ ισ εξογενουσλψ δετερµινεδ βψ αν εξπεριµεντερ ορ α λοττερψ. Τηεσε

στυδιεσ τψπιχαλλψ �νδ τηατ τηε σεχονδ µοϖερ ρετυρνσ τηε φαϖορ ορ τηε δισφαϖορ οφ τηε

�ρστ µοϖερ�σ αχτιον ιν α µορε προνουνχεδ ωαψ ωηεν ιτ ωασ ιντεντιοναλλψ χηοσεν βψ

τηε �ρστ µοϖερ ηιµσελφ. Ηενχε, ιντεντιοναλιτψ σεεµσ το µαττερ. Τηεσε στυδιεσ, ηοω−

εϖερ, δο νοτ προϖιδε εϖιδενχε φορ τηε ε⁄εχτ οφ δι⁄ερεντ ιντεντιονσ βεηινδ τηε σαµε

ιντεντιοναλ αχτιον.

Χηαρνεσσ ανδ Λεϖινε (2007) γο φυρτηερ ιν τηισ διρεχτιον. Τηεψ πρεσεντ εξπερι−

µενταλ ρεσυλτσ οφ α γιφτ εξχηανγε γαµε ιν ωηιχη τηε πρινχιπαλ δετερµινεσ αν ινιτιαλ

ωαγε τηατ ισ συβσεθυεντλψ ηιτ βψ α ρανδοµ σηοχκ. Αγεντσ ωορκ λεσσ φορ τηε σαµε �ναλ

ωαγε ωηεν ιτ ωασ βρουγητ αβουτ βψ α λουσψ ινιτιαλ ωαγε οφ τηε πρινχιπαλ ανδ α ποσ−

ιτιϖε σηοχκ τηαν βψ α γενερουσ ινιτιαλ ωαγε ανδ α νεγατιϖε σηοχκ. Ωηιλε τηισ στυδψ

χοµπαρεσ τωο δι⁄ερεντ ιντεντιοναλ αχτιονσ τηατ λεαδ το τηε σαµε ουτχοµε, Βολτον

ετ αλ. (1998) ανδ Φαλκ ετ αλ. (2003) χοµπαρε τηε ρεαχτιον το τηε σαµε ιντεντιοναλ

αχτιον ωηεν δι⁄ερεντ (νον−σινγλετον) αχτιον σετσ αρε αϖαιλαβλε φορ τηε �ρστ µοϖερ.

Τψπιχαλλψ, τηε σαµε αχτιον ισ ειτηερ τηε µοστ ορ τηε λεαστ γενερουσ αχτιον οφ τηε �ρστ

µοϖερ�σ αχτιον σετ. Ωηιλε Βολτον ετ αλ. (1998) δο νοτ οβσερϖε ανψ σιγνι�χαντ ε⁄εχτσ

ιν τηειρ εξπεριµενταλ σεττινγ, Φαλκ ετ αλ. (2003) �νδ ιν αν εξπεριµενταλ υλτιµατυµ

γαµε τηατ ρεσπονδερσ ρεϕεχτ τηε σαµε ο⁄ερ λεσσ οφτεν ωηεν ιτ ισ τηε µοστ γενερουσ

ο⁄ερ οφ τηε �ρστ µοϖερ�σ αχτιον σετ τηαν ωηεν ιτ ισ τηε λεαστ γενερουσ. Ηενχε, τηερε

ισ εϖιδενχε τηατ τηε ρελατιϖε ποσιτιον οφ αν αχτιον ιν τηε �ρστ µοϖερ�σ χηοιχε σετ

σεεµσ το µαττερ. Ιν ουρ στυδψ, ιν χοντραστ, ωε φοχυσ ον γιφτσ, ι.ε. ον ιντεντιοναλ

αχτιονσ τηατ αλωαψσ σεεµ το βε αλτρυιστιχ ορ γενερουσ. Ιν αλλ οφ ουρ τρεατµεντσ τηε

�ρστ µοϖερ�σ αχτιον σετ ισ τηε σαµε ανδ σο ισ τηε ρανκινγ οφ τηε αχτιονσ� γενεροσιτψ.

Ωε ονλψ ϖαρψ τηε σεχονδ µοϖερ�σ ποσσιβιλιτψ το ρεχιπροχατε ανδ, τηερεβψ, χαν στυδψ

δι⁄ερεντ ιντεντιονσ βεηινδ τηε σαµε γιφτ. Ιν παρτιχυλαρ, ωε ασκ ωηετηερ εξπεχτεδ

ρεωαρδσ σποιλ τηε κινδνεσσ οφ α γιφτ.

Στανχα ετ αλ. (φορτηχοµινγ) αναλψζε ιν τηειρ εξπεριµενταλ στυδψ ωηετηερ τηε σεχ−

ονδ µοϖερ�σ ρεαχτιον δι⁄ερσ ωηεν τηε �ρστ µοϖερ�σ αχτιον ισ εξτρινσιχαλλψ µοτιϖατεδ

ρατηερ τηαν ιντρινσιχαλλψ. Τηεψ χοµπαρε τηε σεχονδ µοϖερ�σ ρεαχτιον ιν α στανδαρδ

τρυστ γαµε ωιτη τηε χορρεσπονδινγ ρεαχτιον ιν α τρυστ γαµε ιν ωηιχη �ρστ µοϖερσ

αρε νοτ ινφορµεδ τηατ σεχονδ µοϖερσ χαν ρεαχτ το τηειρ τρανσφερ υντιλ τηεψ µαδε

τηειρ δεχισιον.1 Τηεψ ηψποτηεσιζε ανδ αλσο �νδ τηατ τηε σλοπε οφ τηε σεχονδ µοϖερ�σ

ρεαχτιον φυνχτιον ισ λαργερ ωηεν τηε �ρστ µοϖερ ισ ιντρινσιχαλλψ µοτιϖατεδ. Ιν ουρ

1Ηενχε, τηεψ ιµπλεµεντ αν ασψµµετρψ οφ ινφορµατιον χονδιτιονσ, ωηιχη ισ νοτ πρεσεντ ιν ουρ

εξπεριµεντ. Ιν ουρ εξπεριµεντ αλλ παρτιχιπαντσ (ιν αλλ τρεατµεντσ) ρεχειϖε αλλ ρελεϖαντ ινφορµατιον

ατ τηε βεγιννινγ οφ τηε εξπεριµεντ ανδ τηερε αρε νο συρπρισεσ ωιτη ρεσπεχτ το τηε υνδερλψινγ γαµε.
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εξπεριµενταλ στυδψ, ιν χοντραστ, ωε δο νοτ διστινγυιση βετωεεν εξτρινσιχ ανδ ιντριν−

σιχ µοτιϖατιον σινχε τηε �ρστ µοϖερ µαψ εξπεχτ α στριχτλψ ποσιτιϖε ρετυρν ιν βοτη

τρεατµεντσ ανδ, τηερεφορε, µαψ βε εξτρινσιχαλλψ µοτιϖατεδ ιν βοτη τρεατµεντσ. Ωε

χαν διρεχτλψ τεστ µοδελσ οφ ιντεντιον−βασεδ ρεχιπροχιτψ τηατ πρεδιχτ τηατ τηε σεχονδ

µοϖερ ρετυρνσ µορε φορ α γιϖεν τρανσφερ ιν Τ−ΛΟΩ τηαν ιν Τ−ΗΙΓΗ.2

Τηισ παπερ προχεεδσ ασ φολλοωσ. Σεχτιον 2 πρεσεντσ τηε εξπεριµενταλ δεσιγν ανδ

προχεδυρε, Σεχτιον 3 τηε βεηαϖιοραλ πρεδιχτιονσ ανδ ηψποτηεσεσ. Ουρ ρεσυλτσ αρε

συµµαριζεδ ανδ δισχυσσεδ ιν Σεχτιον 4. Σεχτιον 5 χονχλυδεσ.

2 Εξπεριµενταλ δεσιγν ανδ προχεδυρε

Ωε χονσιδερ α µοδι�εδ τρυστ γαµε ωιτη τωο αγεντσ, Α ανδ Β. Αγεντ Α � τηε τρυστορ

� ισ ινιτιαλλψ ενδοωεδ ωιτη ωΑ = 20 ανδ χαν τρανσφερ αν αµουντ ξ 2 φ0; 5; 10; 15; 20γ

το αγεντ Β � τηε τρυστεε � ωηο ισ ινιτιαλλψ ενδοωεδ ωιτη ωΒ = 0. Αγεντ Β ρεχειϖεσ

τηε τριπλεδ αµουντ οφ αγεντ Α�σ τρανσφερ, 3 � ξ. Αφτερ αγεντ Α�σ δεχισιον α λοτ−

τερψ δετερµινεσ ωηετηερ τηε γαµε στοπσ ατ τηισ ποιντ ιν τιµε ορ χοντινυεσ. Ωιτη

προβαβιλιτψ 1 � θ τηε γαµε στοπσ ανδ αγεντ Α εαρνσ ηισ ινιτιαλ ενδοωµεντ µινυσ

ηισ τρανσφερ, 20 � ξ, ωηιλε αγεντ Β εαρνσ αγεντ Α�σ τριπλεδ τρανσφερ, 3 � ξ. Ωιτη

προβαβιλιτψ θ, ηοωεϖερ, τηε γαµε χοντινυεσ ανδ αγεντ Β χαν τρανσφερ αν αµουντ

ψ(ξ) 2 [0; 3 � ξ] το αγεντ Α. Ιν τηε λαττερ χασε αγεντ Α εαρνσ ηισ ινιτιαλ ενδοωµεντ

µινυσ ηισ τρανσφερ πλυσ αγεντ Β�σ ρετυρν τρανσφερ, 20� ξ+ ψ(ξ), ανδ αγεντ Β εαρνσ

αγεντ Α�σ τριπλεδ τρανσφερ µινυσ ηισ ρετυρν τρανσφερ, 3 � ξ � ψ(ξ). Τηε στρυχτυρε οφ

τηισ γαµε ισ συµµαριζεδ ιν Φιγυρε 1.

Τηε µοδι�χατιον οφ τηε τρυστ γαµε χονσιστσ ιν τηε ρανδοµ µοϖε οφ νατυρε αφτερ

αγεντ Α�σ δεχισιον. Ιφ θ = 1, τηε γαµε ρεσεµβλεσ α τρυστ γαµε. Ιφ θ = 0, τηε γαµε

βοιλσ δοων το α διχτατορ γαµε. Τηε ηιγηερ θ 2 (0; 1), τηε ηιγηερ τηε χηανχε τηατ

αγεντ Β χαν µακε α ρετυρν τρανσφερ (γιϖεν ξ > 0) ανδ τηε µορε σιµιλαρ τηε γαµε

ισ το α τρυστ γαµε. Τηε σµαλλερ θ 2 (0; 1), τηε σµαλλερ τηε χηανχε τηατ αγεντ Β χαν

µακε α ρετυρν τρανσφερ (γιϖεν ξ > 0) ανδ τηε µορε σιµιλαρ τηε γαµε ισ το α διχτατορ

γαµε.

Σινχε ωε αρε ιντερεστεδ ιν τηε ε⁄εχτ οφ αν αχτορ�σ εξπεχτατιον το ρεχειϖε φυτυρε

ρεωαρδσ ον τηε περχειϖεδ κινδνεσσ οφ ηισ αχτιον ανδ ον τηε αχτιον�σ ρεωαρδσ, ωε ϖαρψ

θ, τηε προβαβιλιτψ τηατ αγεντ Β χαν µακε α ρετυρν τρανσφερ (γιϖεν ξ > 0), αχροσσ

τρεατµεντσ ανδ κεεπ εϖερψτηινγ ελσε χονσταντ. Ταβλε 1 πρεσεντσ ουρ τρεατµεντσ.

2Τηισ ηψποτηεσισ δοεσ νοτ νεχεσσαριλψ ιµπλψ τηατ τηε σλοπε οφ τηε σεχονδ µοϖερ�σ ρεαχτιον φυνχ−

τιον ισ λαργερ ιν Τ−ΛΟΩ τηαν ιν Τ−ΗΙΓΗ.
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Φιγυρε 1: Στρυχτυρε οφ τηε µοδι�εδ τρυστ γαµε

Ταβλε 1: Τρεατµεντσ οφ τηε µοδι�εδ τρυστ γαµε

Τρεατµεντ θ Νυµβερ οφ

παρτιχιπαντσ

Τ−ΗΙΓΗ 0.8 40

Τ−ΛΟΩ 0.5 60

Ιν τρεατµεντ Τ−ΗΙΓΗ θ ισ ηιγηερ τηαν ιν τρεατµεντ Τ−ΛΟΩ. Ωε δο νοτ ιµ−

πλεµεντ προβαβιλιτιεσ εθυαλ (ορ χλοσε) το 0 ανδ 1 σινχε ωε ωουλδ λικε το χοµπαρε

σεττινγσ αλλ ωιτη νον−δεγενερατε λοττεριεσ. Φυρτηερµορε, ωε αρε ρεστραινεδ το τακε

ηιγηερ ϖαλυεσ οφ θ σινχε αγεντσ Β αρε ονλψ ασκεδ το δεχιδε ον ψ(ξ) ωηεν τηε γαµε

χοντινυεσ. Ιφ ινστεαδ θ ωασ σµαλλ, ωε εξπεχτεδ ονλψ ϖερψ φεω οβσερϖατιονσ οφ ψ(ξ)

φορ α γιϖεν νυµβερ οφ παρτιχιπαντσ.3

Ιν εαχη εξπεριµενταλ σεσσιον ονε τρεατµεντ οφ τηε µοδι�εδ τρυστ γαµε ισ χον−

δυχτεδ. Τηε ιµπλεµεντεδ τρεατµεντ ισ πλαψεδ ονχε. Ατ τηε βεγιννινγ οφ εαχη σεσσιον

τηε ρολεσ οφ τηε γαµε αρε ασσιγνεδ ρανδοµλψ. Παρτιχιπαντσ αρε ινφορµεδ αβουτ τηειρ

ασσιγνεδ ρολεσ αφτερ τηεψ ηαϖε χορρεχτλψ ανσωερεδ α σετ οφ χοντρολ θυεστιονσ. Αγεντσ

Α αρε αλωαψσ ασκεδ το δεχιδε ον ξ, ωηιλε αγεντσ Β αρε ονλψ ασκεδ το δεχιδε ον ψ(ξ)

ωηεν τηε γαµε χοντινυεσ αφτερ αγεντ Α�σ δεχισιον. Γιϖεν αγεντσ Β αρε ασκεδ το

3Ωε χουλδ ηαϖε ασκεδ αλλ αγεντσ Β το δεχιδε ον ψ(ξ) γιϖεν τηε γαµε χοντινυεσ. Τηεν, ηοωεϖερ,

τρεατµεντ ε⁄εχτσ χουλδ αλσο βε χαυσεδ βψ σοχιαλ πρεφερενχεσ βασεδ ον εξπεχτεδ ουτχοµεσ ανδ ιτ

ωουλδ βε δι′χυλτ το δισεντανγλε τηε σουρχε οφ οβσερϖεδ τρεατµεντ ε⁄εχτσ.
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δεχιδε, ωε ελιχιτ ψ(ξ) βψ τηε στρατεγψ µετηοδ, ι.ε. αγεντσ Β αρε ινφορµεδ τηατ τηε

γαµε χοντινυεσ βυτ αρε νοτ ινφορµεδ αβουτ ξ ανδ δεχιδε ον τηειρ ρετυρν τρανσφερ φορ

εαχη ποσσιβλε ξ.4 Αφτερ παρτιχιπαντσ ηαϖε µαδε τηειρ δεχισιονσ, τηεψ �λλ ουτ α θυεσ−

τιονναιρε χονχερνινγ τηειρ εµοτιονσ, βελιεφσ, περχεπτιον οφ τηε οτηερ πλαψερ�σ αχτιον,

ανδ ινδιϖιδυαλ δατα συχη ασ σεξ, αγε, ανδ συβϕεχτ οφ στυδιεσ.

Ουρ εξπεριµενταλ σεσσιονσ ωερε ρυν ατ τηε Χεντερ φορ Εξπεριµενταλ Εχονοµιχσ

οφ τηε Υνιϖερσιτψ οφ Ιννσβρυχκ, Αυστρια, ιν Απριλ 2008. 100 ινδιϖιδυαλσ παρτιχιπατεδ

ιν τηε εξπεριµεντ, ωηιχη ωασ χονδυχτεδ ωιτη τηε σοφτωαρε ζ−Τρεε βψ Φισχηβαχηερ

(2007). Ινδιϖιδυαλσ ωερε ρανδοµλψ ασσιγνεδ το σεσσιονσ ανδ χουλδ τακε παρτ ονλψ

ονχε. Τηε σεσσιονσ ωερε φραµεδ νευτραλλψ ανδ λαστεδ αβουτ αν ηουρ.5 Ινδιϖιδυαλσ

εαρνεδ ον αϖεραγε 10.34 ε (ατ τηε τιµε οφ τηε εξπεριµεντ 1 ε � 1.57 ΥΣ∆) ινχλυδινγ

α σηοω−υπ φεε οφ 5 ε. Τηε µαξιµυµ παψο⁄ ωασ 23 ε ανδ τηε µινιµυµ 5 ε.

3 Βεηαϖιοραλ πρεδιχτιονσ ανδ ηψποτηεσεσ

Αν αχτορ�σ εξπεχτατιον το ρεχειϖε φυτυρε ρεωαρδσ µαψ σποιλ τηε κινδνεσσ οφ ηισ γιφτ

(ι.ε. ηισ χοστλψ αχτιον τηατ βενε�τσ οτηερσ) ανδ τηε γιφτ�σ ρεωαρδσ βεχαυσε φυτυρε

ρεωαρδσ χαν παρτιαλλψ χοϖερ τηε αχτορ�σ ινιτιαλ χοστσ ανδ ρεδυχε τηε οτηερσ� νετ βενε�τ.

Ιν τηε πρεσεντεδ µοδι�εδ τρυστ γαµε αγεντ Α βεηαϖεσ ιν α ωαψ τηατ σεεµσ αλτρυιστιχ

ωηεν ηε τρανσφερσ α στριχτλψ ποσιτιϖε αµουντ το αγεντ Β: Αγεντ Α�σ τρανσφερ ισ χοστλψ

� ιτ ισ δεδυχτεδ φροµ ηισ ινιτιαλ ενδοωµεντ � ανδ βενε�τσ αγεντ Β. Τηισ ισ τρυε

φορ βοτη τρεατµεντσ. Ουρ τρεατµεντ ϖαριατιον, ηοωεϖερ, χηανγεσ τηε ποσσιβιλιτψ φορ

αγεντ Β το µακε α ρετυρν τρανσφερ ανδ, τηερεβψ, ϖαριεσ τηε χηανχε φορ αγεντ Α το

ρεχειϖε α φυτυρε ρετυρν φορ ηισ τρανσφερ. Ηενχε, αγεντ Α�σ εξπεχτεδ ρετυρνσ (φορ α

γιϖεν τρανσφερ) αρε σµαλλερ ιν Τ−ΛΟΩ, γιϖεν αγεντ Α ηασ τηε σαµε βελιεφ αβουτ

αγεντ Β�σ ρεαχτιον ιν βοτη τρεατµεντσ. Χονσεθυεντλψ, λεσσ οφ αγεντ Α�σ ινιτιαλ χοστσ

αρε χοϖερεδ ιν εξπεχτατιον ιν Τ−ΛΟΩ, µορε εξπεχτεδ παψο⁄ ισ ασσιγνεδ το αγεντ Β

ιν Τ−ΛΟΩ, ανδ, τηερεφορε, αγεντ Β µαψ περχειϖε αγεντ Α ασ κινδερ ιν Τ−ΛΟΩ ανδ,

ιν φαχτ, ρετυρν µορε ωηεν ηε ισ ασκεδ το δεχιδε. Ιφ, ηοωεϖερ, αγεντ Α�σ βελιεφ αβουτ

αγεντ Β�σ ρεαχτιον ισ χορρεχτ ανδ αγεντ Β�σ βελιεφ αβουτ αγεντ Α�σ βελιεφ ισ χορρεχτ,

4Ωε αππλψ τηε στρατεγψ µετηοδ ηερε ιν ορδερ το γετ αγεντ Β�σ ρεαχτιον φυνχτιον. Ωε αρε αωαρε

τηατ τηισ ελιχιτατιον µετηοδ µαψ α⁄εχτ ψ(ξ). Ηοωεϖερ, ωε εξπεχτ τηισ ε⁄εχτ το βε ορτηογοναλ το

ουρ τρεατµεντ ϖαριατιον. Φυρτηερµορε, Στανχα ετ αλ. (φορτηχοµινγ) αργυε τηατ τηε στρατεγψ µετηοδ

αππλιεδ ιν τηειρ τρυστ γαµεσ δοεσ νοτ σιγνι�χαντλψ α⁄εχτ δεχισιονσ.
5Τρανσλατεδ ινστρυχτιονσ ανδ α µορε δεταιλεδ δεσχριπτιον οφ τηε σεσσιον�σ προχεδυρε αρε προϖιδεδ

ιν τηε αππενδιξ.
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τηεν αγεντ Α εξπεχτσ αγεντ Β το τρανσφερ µορε ιν Τ−ΛΟΩ ωηεν αγεντ Β ισ ασκεδ το

δεχιδε. Νεϖερτηελεσσ, αγεντ Α εξ αντε φαχεσ λεσσ εξπεχτεδ φυτυρε ρετυρνσ ιν Τ−ΛΟΩ

σινχε τηε δι⁄ερενχε ιν θ χοµπενσατεσ τηε δι⁄ερενχε ιν αγεντ Β�σ ρεαχτιον. Ωηψ ισ

τηισ τηε χασε? Συπποσε τηε οπποσιτε: Αγεντ Α εξ αντε εξπεχτεδ ηιγηερ φυτυρε ρετυρνσ

ιν Τ−ΛΟΩ. Τηεν, αγεντ Β περχειϖεδ αγεντ Α ασ λεσσ κινδ ιν Τ−ΛΟΩ ανδ τρανσφερρεδ

λεσσ ιν Τ−ΛΟΩ. Χονσεθυεντλψ, αγεντ Α�σ εξπεχτατιον αβουτ ηισ φυτυρε ρετυρνσ ωερε

ινχορρεχτ.

Ιν τηε φολλοωινγ ωε πρεσεντ µοδελσ οφ σοχιαλ πρεφερενχεσ τηατ δι⁄ερ ιν τηειρ ασ−

συµπτιονσ ον τηε ινδιϖιδυαλσ� υτιλιτψ φυνχτιον ανδ, χονσεθυεντλψ, ιν τηειρ βεηαϖιοραλ

πρεδιχτιονσ. Σοµε οφ τηεµ εξπλιχιτλψ µοδελ ηοω αν αχτορ�σ εξπεχτατιον το ρεχειϖε

φυτυρε ρεωαρδσ σποιλσ τηε περχειϖεδ κινδνεσσ ανδ πρεδιχτ τηατ αγεντ Β ρετυρνσ µορε

ιν Τ−ΛΟΩ φορ α γιϖεν τρανσφερ.

3.1 Βεηαϖιοραλ πρεδιχτιονσ οφ αγεντ Β

Τηε σελφ−ιντερεστ µοδελ

Τηε στανδαρδ νεοχλασσιχαλ µοδελ ασσυµεσ τηατ αλλ ινδιϖιδυαλσ αρε σελ�ση, ι.ε. τηειρ

υτιλιτψ φυνχτιον Υ δεπενδσ ον τηειρ οων µατεριαλ παψο⁄ µ ονλψ ανδ ινχρεασεσ ιν µ.

Γιϖεν τηεσε ασσυµπτιονσ, αγεντ Β�σ δεχισιον δοεσ νοτ ϖαρψ ιν θ 2 (0; 1).

Σινχε αγεντ Β µαξιµιζεσ ηισ οων µατεριαλ παψο⁄, ηε τρανσφερσ ψ(ξ) = 0 8 ξ ιν

τηε υνιθυε συβγαµε περφεχτ Ναση εθυιλιβριυµ. Τηισ ισ τρυε φορ αλλ θ 2 (0; 1).

Α µοδελ οφ σοχιαλ πρεφερενχεσ βασεδ ον ουτχοµεσ

Μοδελσ οφ σοχιαλ πρεφερενχεσ βασεδ ον ουτχοµεσ (ε.γ. Φεηρ ανδ Σχηµιδτ, 1999;

Βολτον ανδ Οχκενφελσ, 2000) ασσυµε τηατ αν ινδιϖιδυαλ�σ υτιλιτψ φυνχτιον εΥ δοεσ νοτ
ονλψ δεπενδ ον µ βυτ αλσο ον ανοτηερ ινδιϖιδυαλ�σ µατεριαλ παψο⁄ ρ. Τηισ δοεσ νοτ

νεχεσσαριλψ ιµπλψ τηατ αν ινδιϖιδυαλ ισ αλτρυιστιχ. Ινδιϖιδυαλσ ωιτη εΥ µαψ αλσο βε

σπιτεφυλ, ενϖιουσ, ινεθυιτψ αϖερσε ορ ινεθυιτψ σεεκινγ.

Γιϖεν τηεσε ασσυµπτιονσ, αγεντ Β�σ δεχισιον δοεσ νοτ ϖαρψ ιν θ 2 (0; 1).

Σινχε αγεντ Β�σ δεχισιον ισ α⁄εχτεδ βψ ουτχοµεσ ονλψ (ανδ νοτ βψ ηοω τηεσε

ουτχοµεσ χαµε αβουτ), αγεντ Β φαχεσ τηε σαµε δεχισιον προβλεµ ατ ηισ δεχισιον

νοδε ινδεπενδεντ οφ θ 2 (0; 1). Ηενχε, ηισ οπτιµαλ δεχισιον δοεσ νοτ ϖαρψ αχροσσ

τρεατµεντσ.6

6Μοδελσ οφ σοχιαλ πρεφερενχεσ βασεδ ον εξπεχτεδ ουτχοµεσ (ε.γ. Τραυτµανν, 2009) πρεδιχτ τηε

σαµε, ασ λονγ ασ αγεντ Β�σ δεχισιον ισ βασεδ ον ηισ εξπεχτατιονσ φορµεδ ατ τηε µοµεντ οφ ηισ

δεχισιον µακινγ.
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Μοδελσ οφ ιντεντιον−βασεδ ρεχιπροχιτψ

Μοδελσ οφ ιντεντιον−βασεδ ρεχιπροχιτψ (ε.γ. Ραβιν, 1993; ∆υφωενβεργ ανδ Κιρχη−

στειγερ, 2004; Φαλκ ανδ Φισχηβαχηερ, 2006) ασσυµε τηατ αν ινδιϖιδυαλ�σ υτιλιτψ φυνχ−

τιον ς ισ νοτ ονλψ δεπενδεντ ον ουτχοµεσ βυτ αλσο ον ηοω τηεσε ουτχοµεσ χαµε

αβουτ ανδ ον τηε οτηερ ινδιϖιδυαλσ� ιντεντιονσ. Αν ινδιϖιδυαλ�σ ιντεντιονσ σηαπε τηε

κινδνεσσ οφ ηισ αχτιον. Ηοω κινδνεσσ ισ δε�νεδ εξαχτλψ ανδ ηοω ιντεντιονσ χονχρετελψ

εντερ τηε υτιλιτψ φυνχτιον ϖαριεσ αχροσσ τηε δι⁄ερεντ µοδελσ. Τψπιχαλλψ, τηε κινδερ αν

ινδιϖιδυαλ περχειϖεσ ανοτηερ ινδιϖιδυαλ�σ αχτιον, τηε κινδερ τηε ινδιϖιδυαλ τρεατσ τηισ

οτηερ ινδιϖιδυαλ. Ωε σετ υπ α µοδελ τηατ ισ βασεδ ον ∆υφωενβεργ ανδ Κιρχηστειγερ

(2004). Ιν ονε σπεχι�χατιον ωε υσε α δε�νιτιον φορ κινδνεσσ τηατ ισ σιµιλαρ το τηε ονε

βψ ∆υφωενβεργ ανδ Κιρχηστειγερ (2004), ∆Κ−σπεχι�χατιον, ιν ανοτηερ σπεχι�χατιον

ιτ ισ σιµιλαρ το τηε ονε βψ Φαλκ ανδ Φισχηβαχηερ (2006), ΦΦ−σπεχι�χατιον.7

Γιϖεν τηε ασσυµπτιονσ οφ τηε µοδελ, ψ(ξ) ισ (ωεακλψ) ηιγηερ ιν Τ−ΛΟΩ τηαν ιν

Τ−ΗΙΓΗ 8 ξ 2 Α ιν ανψ σεθυεντιαλ ρεχιπροχιτψ εθυιλιβριυµ (ΣΡΕ) ιν ωηιχη αγεντ

Β χηοοσεσ α πυρε στρατεγψ.8 Ιν τηε ∆Κ−σπεχι�χατιον Α = φ20γ ανδ ιν τηε ΦΦ−

σπεχι�χατιον Α = φ0; 5; 10; 15; 20γ.9

3.2 Ηψποτηεσεσ

Τηε ϖαριουσ τηεορετιχαλ µοδελσ πρεδιχτ δι⁄ερεντ βεηαϖιοραλ παττερνσ οφ αγεντ Β. Ωε

φοχυσ ον τηε πρεδιχτεδ εθυιλιβρια ιν ωηιχη αγεντ Β χηοοσεσ α πυρε στρατεγψ ανδ

συµµαριζε τηεσε πρεδιχτιονσ ιν τηε φολλοωινγ τηρεε ηψποτηεσεσ.

Ηψποτηεσισ 1: Νο ρετυρνσ ιν αλλ τρεατµεντσ

Αγεντ Β ρετυρνσ νοτηινγ το αγεντ Α ιν Τ−ΗΙΓΗ ανδ ιν Τ−ΛΟΩ.

Ηψποτηεσισ 2: Τηε σαµε ρετυρνσ ιν αλλ τρεατµεντσ

Αγεντ Β ρετυρνσ α ωεακλψ ποσιτιϖε αµουντ το αγεντ Α. Αγεντ Β�σ ρετυρν τρανσφερ

φορ α γιϖεν ξ ισ τηε σαµε ιν αλλ τρεατµεντσ.

Ηψποτηεσισ 3: Ηιγηερ ρετυρνσ ιν Τ−ΛΟΩ

Αγεντ Β ρετυρνσ α ωεακλψ ποσιτιϖε αµουντ το αγεντ Α. ψ(ξ) ισ ηιγηερ ιν Τ−ΛΟΩ

τηαν ιν Τ−ΗΙΓΗ φορ ξ > 0.

7Ιν τηε αππενδιξ ωε ιντροδυχε τηεσε µοδελσ ανδ δεριϖε τηειρ πρεδιχτιονσ.
8Νο τρεατµεντ δι⁄ερενχεσ αρε πρεδιχτεδ ιφ ειτηερ αγεντ Β ισ ηαρδλψ σενσιτιϖε το ρεχιπροχιτψ

χονχερνσ συχη τηατ ηε χηοοσεσ ψ(ξ) = 0 ιν βοτη τρεατµεντσ, ορ αγεντ Β ισ εξτρεµελψ σενσιτιϖε το

ρεχιπροχιτψ χονχερνσ συχη τηατ ηε χηοοσεσ ψ(ξ) = 3 � ξ ιν βοτη τρεατµεντσ.
9Τηε ρεασον φορ τηε ποσσιβλψ δι⁄ερεντ πρεδιχτιον ισ τηε δι⁄ερενχε ιν τηε ρεφερενχε αχτιον τηατ ισ

υσεδ φορ τηε δε�νιτιον οφ κινδνεσσ.
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Ηψποτηεσισ 1 ισ συππορτεδ βψ τηε σελφ−ιντερεστ µοδελ: Αχτιονσ τηατ σεεµ αλτρυ−

ιστιχ αρε νεϖερ ρεωαρδεδ. Μοδελσ οφ σοχιαλ πρεφερενχεσ βασεδ ον ουτχοµεσ συππορτ

Ηψποτηεσισ 2. Σιµιλαρ το τηε σελφ−ιντερεστ µοδελ, τηερε αρε νο τρεατµεντ ε⁄εχτσ

ωιτη ρεσπεχτ το αγεντ Β�σ βεηαϖιορ. Ιν χοντραστ το τηε σελφ−ιντερεστ µοδελ, ηοωεϖερ,

αγεντ Β ρετυρνσ α ωεακλψ ποσιτιϖε αµουντ το αγεντ Α: Αχτιονσ τηατ σεεµ αλτρυιστιχ

αρε ρεωαρδεδ, ιρρεσπεχτιϖε οφ τηε αχτορ�σ ιντεντιονσ. Ουρ µοδελσ οφ ιντεντιον−βασεδ

ρεχιπροχιτψ τακε ιντο χονσιδερατιον τηε ε⁄εχτ οφ ιντεντιονσ. Τηεψ πρεδιχτ τηατ τηε

εξπεχτατιον οφ φυτυρε ρετυρνσ σποιλσ τηε κινδνεσσ οφ αν αχτιον τηατ σεεµσ αλτρυιστιχ

ανδ τηε αχτιον�σ ρεωαρδσ. Ηενχε, τηεψ συππορτ Ηψποτηεσισ 3.10

4 Ρεσυλτσ

Ωε �ρστ συµµαριζε τηε δεσχριπτιϖε ρεσυλτσ οφ ουρ εξπεριµεντ ανδ χοµπαρε τηεµ

ωιτη στανδαρδ ρεσυλτσ φροµ τρυστ γαµεσ ανδ διχτατορ γαµεσ. Ιν α νεξτ στεπ, ωε τεστ

ουρ ηψποτηεσεσ ανδ αναλψζε ωηετηερ τηε εξπεχτατιον οφ φυτυρε ρεωαρδσ σποιλσ τηε

κινδνεσσ οφ αν αχτιον τηατ σεεµσ αλτρυιστιχ ανδ τηε αχτιον�σ ρεωαρδσ. Φιναλλψ, ωε

εξαµινε ουρ θυεστιονναιρε δατα το εϖαλυατε ποσσιβλε εξπλανατιονσ φορ ουρ �νδινγσ.

4.1 Συµµαρψ στατιστιχσ

Ταβλε 2 πρεσεντσ τηε µεαν ανδ τηε στανδαρδ δεϖιατιον οφ αγεντ Α�σ τρανσφερ ιν Τ−

ΗΙΓΗ, Τ−ΛΟΩ ανδ βοτη τρεατµεντσ τογετηερ, Φιγυρε 2 τηε διστριβυτιον οφ αγεντ Α�σ

τρανσφερ.

Ταβλε 2: Μεαν ανδ στανδαρδ δεϖιατιον οφ Α�σ τρανσφερ

Τρεατµεντ Μεαν Στανδαρδ Νυµβερ οφ

οφ ξ δεϖιατιον οφ ξ οβσερϖατιονσ

Τ−ΗΙΓΗ 9.00 5.28 20

Τ−ΛΟΩ 7.00 5.81 30

Τ−ΗΙΓΗ + Τ−ΛΟΩ 7.80 5.64 50

Ον αϖεραγε, αγεντ Α τρανσφερσ 7.8 ποιντσ (ουτ οφ 20 αϖαιλαβλε) το αγεντ Β. Τηισ ισ

χονσιδεραβλψ λαργερ τηαν 0, βυτ σµαλλερ τηαν ηαλφ οφ τηε ενδοωµεντ, ωηιχη ισ οβσερϖεδ

ον αϖεραγε ιν στανδαρδ τρυστ γαµεσ ιν ωηιχη θ = 1 (Χαµερερ, 2003, π. 86). Ιν βοτη

10Τηε ΦΦ−σπεχι�χατιον χοµπλετελψ συππορτσ Ηψποτηεσισ 3. Τηε ∆Κ−σπεχι�χατιον πρεδιχτσ ψ(ξ)

το βε ηιγηερ ιν Τ−ΛΟΩ τηαν ιν Τ−ΗΙΓΗ φορ ξ = 20, βυτ νοτ νεχεσσαριλψ φορ αλλ ξ > 0.
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Φιγυρε 2: ∆ιστριβυτιον οφ Α�σ τρανσφερ
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τρεατµεντσ τογετηερ 84 % οφ αγεντσ Α τρανσφερ στριχτλψ ποσιτιϖε αµουντσ, µορε τηαν

40 % ηαλφ οφ τηειρ ινιτιαλ ενδοωµεντ ορ µορε, ανδ µορε τηαν 10 % εϖεν µορε τηαν

60 % οφ τηειρ ινιτιαλ ενδοωµεντ (σοµε εϖεν τηειρ ωηολε ινιτιαλ ενδοωµεντ). Τηισ

ισ χονσιδεραβλψ δι⁄ερεντ το ρεσυλτσ φροµ στανδαρδ διχτατορ γαµεσ (θ = 0). Ιν τηε

βενχηµαρκ τρεατµεντ βψ Φορσψτηε ετ αλ. (1994) (τηε παιδ διχτατορ γαµε χονδυχτεδ

ιν Απριλ ωιτη α πιε οφ 5 ∃) αβουτ 55 % οφ διχτατορσ τρανσφερ α στριχτλψ ποσιτιϖε αµουντ,

λεσσ τηαν 20 % ηαλφ οφ τηειρ ενδοωµεντ ορ µορε, ανδ νο διχτατορ τρανσφερσ µορε τηαν

60 % οφ ηισ ενδοωµεντ. Τηισ συγγεστσ τηατ τηε διστριβυτιον οφ ξ σηιφτσ τοωαρδσ ηιγηερ

ϖαλυεσ ωηεν θ > 0 χοµπαρεδ το θ = 0.11 Ωηεν ωε χονσιδερ τηε διστριβυτιονσ οφ ξ οφ

τηε τρεατµεντσ σεπαρατελψ, ωε οβσερϖε τηατ τηε διστριβυτιον ιν Τ−ΗΙΓΗ ισ µορε το

τηε ριγητ τηαν ιν Τ−ΛΟΩ. Τακινγ τηεσε οβσερϖατιονσ τογετηερ ιτ σεεµσ τηατ αγεντσ

Α ρεαχτ το δι⁄ερενχεσ ιν θ ανδ τενδ το σενδ µορε τηε ηιγηερ τηε προβαβιλιτψ τηατ

αγεντ Β χαν ρεχιπροχατε.

Ταβλε 3 πρεσεντσ τηε µεαν ανδ τηε στανδαρδ δεϖιατιον οφ αγεντ Β�σ ρετυρν τρανσφερ

περ ξ ιν Τ−ΗΙΓΗ, Τ−ΛΟΩ ανδ βοτη τρεατµεντσ τογετηερ.

Ιν λινε ωιτη τηε ρεσυλτσ φροµ τηε στανδαρδ τρυστ γαµε βψ Βεργ ετ αλ. (1995),

τηε µορε αγεντ Α τρανσφερσ, τηε µορε αγεντ Β ρετυρνσ ον αϖεραγε. Τηε οβσερϖεδ

αϖεραγε ρετυρν τρανσφερσ, ηοωεϖερ, σεεµ το βε λοωερ τηαν τηε ονεσ βψ Βεργ ετ αλ.

11Τηισ σηιφτ χουλδ αλσο βε χαυσεδ βψ τηε φαχτ τηατ ιν στανδαρδ διχτατορ γαµεσ αγεντ Α�σ τρανσφερ

ισ νοτ τριπλεδ. Χοξ (2004), τηουγη, οβσερϖεσ τηατ τηε διστριβυτιον οφ τρανσφερσ ιν α στανδαρδ τρυστ

γαµε ισ χεντερεδ ον ηιγηερ ϖαλυεσ τηαν τηε διστριβυτιον οφ τρανσφερσ ιν τηε χορρεσπονδινγ τρυστ

γαµε ωιτη θ = 0.
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Ταβλε 3: Μεαν ανδ στανδαρδ δεϖιατιον οφ Β�σ ρετυρν τρανσφερ

Τρεατµεντ ξ Μεαν Στανδαρδ Μεαν Νυµβερ οφ

οφ ψ(ξ) δεϖιατιον οφ ψ(ξ) οφ ψ(ξ)/ξ οβσερϖατιονσ

Τ−ΗΙΓΗ 5 01.75 02.59 0.35 16

10 06.75 06.14 0.68 16

15 11.06 08.83 0.74 16

20 17.31 13.68 0.87 16

Τ−ΛΟΩ 5 01.93 02.76 0.39 15

10 04.93 04.35 0.49 15

15 10.13 08.19 0.68 15

20 16.47 12.00 0.82 15

Τ−ΗΙΓΗ + Τ−ΛΟΩ 5 01.84 02.63 0.37 31

10 05.87 05.34 0.59 31

15 10.61 08.40 0.71 31

20 16.90 12.69 0.85 31

(1995).12 Ταβλε 3 αλσο ρεπορτσ τηε αϖεραγε ρετυρν τρανσφερ διϖιδεδ βψ τηε τρανσφερ.

Ινδεπενδεντ οφ ξ > 0 ιτ ισ βελοω 1. Ηενχε, α στριχτλψ ποσιτιϖε τρανσφερ δοεσ νοτ παψ

ο⁄ φορ αγεντ Α ον αϖεραγε, εϖεν ιφ αγεντ Α κνεω βεφορεηανδ τηατ τηε γαµε ισ νοτ

στοππεδ. Νεϖερτηελεσσ, τηε µεαν οφ ψ (ξ) =ξ ινχρεασεσ ιν ξ ανδ πεακσ ατ α ϖαλυε µορε

τηαν 0.8 ατ ξ = 20.

Ιφ ωε σεπαρατελψ εξαµινε αγεντ Β�σ ρετυρν τρανσφερσ ιν τηε τωο τρεατµεντσ, ωε

οβσερϖε τηατ ον αϖεραγε αγεντ Β ρετυρνσ µορε ιν Τ−ΗΙΓΗ τηαν ιν Τ−ΛΟΩ φορ αλλ

ξ 2 φ10; 15; 20γ.

4.2 Αναλψσισ οφ ηψποτηεσεσ

Ηψποτηεσισ 1: Νο ρετυρνσ ιν αλλ τρεατµεντσ

Ταβλε 3 σηοωσ τηατ αγεντ Β�σ αϖεραγε ρετυρν τρανσφερσ αρε χονσιδεραβλψ ηιγηερ

τηαν 0 φορ ξ > 0. Π−ϖαλυεσ οφ ονε σαµπλε µεδιαν τεστσ ον ψ(ξ) = 0 περ τρεατµεντ

ανδ περ ξ αρε ρεπορτεδ ιν Ταβλε 4.

Ον τηε βασισ οφ τηεσε τεστσ, ωε ρεϕεχτ Ηψποτηεσισ 1 φορ αλλ ξ > 0 ανδ αλλ τρεατµεντσ.

Νεϖερτηελεσσ, Ταβλε 4 σηοωσ τηατ τηερε αρε σοµε αγεντσ Β τηατ ρετυρν νοτηινγ γιϖεν

ξ > 0. Τηε περχενταγε οφ τηεσε οβσερϖατιονσ δεχρεασεσ ιν ξ. Στιλλ, 25 % οφ αγεντσ Β

12Ονε εξπλανατιον φορ τηισ δι⁄ερενχε χουλδ βε τηατ ιν τηε εξπεριµεντ βψ Βεργ ετ αλ. (1995)

αγεντσ Β ηαϖε τηε σαµε ινιτιαλ ενδοωµεντ ασ αγεντσ Α.
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Ταβλε 4: Π−ϖαλυεσ οφ ονε σαµπλε µεδιαν τεστσ ον Ηψποτηεσισ 1

Τρεατµεντ ξ Νυµβερ οφ π−ϖαλυε Περχενταγε οφ

οβσερϖατιονσ αγεντσ Β ωιτη ψ(ξ) = 0

Τ−ΗΙΓΗ 5 16 0.015 62.50

10 16 0.001 31.25

15 16 0.001 25.00

20 16 0.001 25.00

Τ−ΛΟΩ 5 15 0.015 60.00

10 15 0.002 33.33

15 15 0.001 20.00

20 15 0.001 20.00

ιν Τ−ΗΙΓΗ ανδ 20 % οφ αγεντσ Β ιν Τ−ΛΟΩ ρετυρν νοτηινγ γιϖεν ξ = 20.

Ηψποτηεσισ 2: Τηε σαµε ρετυρνσ ιν αλλ τρεατµεντσ

Ταβλε 3 ινδιχατεσ τηατ αγεντ Β�σ αϖεραγε ρετυρν τρανσφερ φορ α γιϖεν ξ > 0 δοεσ νοτ

χονσιδεραβλψ ϖαρψ αχροσσ τρεατµεντσ. Ταβλε 5 ρεπορτσ περ ξ τηε τωο−σιδεδ π−ϖαλυεσ

οφ Μανν−Ωηιτνεψ−Υ τεστσ ον ωηετηερ ψ(ξ) δι⁄ερσ αχροσσ τρεατµεντσ.

Ταβλε 5: Τωο−σιδεδ π−ϖαλυεσ οφ Μανν−Ωηιτνεψ−Υ τεστσ ον Ηψποτηεσισ 2

Νυµβερ οφ Νυµβερ οφ

ξ οβσερϖατιονσ οβσερϖατιονσ π−ϖαλυε

ιν Τ−ΗΙΓΗ ιν Τ−ΛΟΩ

5 16 15 0.856

10 16 15 0.405

15 16 15 0.873

20 16 15 0.873

Ον τηε βασισ οφ τηεσε τεστσ, ωε αρε φαρ φροµ ρεϕεχτινγ Ηψποτηεσισ 2. Αγεντ Β�σ

ρετυρν τρανσφερ δοεσ νοτ σεεµ το δι⁄ερ αχροσσ τρεατµεντσ.

Ηψποτηεσισ 3: Ηιγηερ ρετυρνσ ιν Τ−ΛΟΩ

Φροµ τηε ρεσυλτσ πρεσεντεδ ιν Ταβλε 5 ωε χονχλυδε τηατ ψ(ξ) ισ νοτ σιγνι�χαντλψ

σµαλλερ ιν Τ−ΗΙΓΗ τηαν ιν Τ−ΛΟΩ, νειτηερ φορ ξ = 20 νορ φορ ανψ οτηερ ξ > 0.

Ιφ ανψτηινγ δι⁄ερεδ βετωεεν Τ−ΗΙΓΗ ανδ Τ−ΛΟΩ ρεγαρδινγ ψ(ξ), τηεν ψ(ξ) ωασ

λαργερ ιν Τ−ΗΙΓΗ τηαν ιν Τ−ΛΟΩ, ατ λεαστ φορ ξ 2 φ10; 15; 20γ. Ηενχε, ουρ δατα

σεεµ το βε ινχονσιστεντ ωιτη Ηψποτηεσισ 3.
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Ωε συµµαριζε ουρ �νδινγσ ιν τηε φολλοωινγ τωο ρεσυλτσ:

Ρεσυλτ 1: Ρεωαρδσ φορ αχτιονσ τηατ σεεµ αλτρυιστιχ

Σιµιλαρ το πρεϖιουσ στυδιεσ ον τρυστ γαµεσ (σεε Χαµερερ, 2003, π. 86), ωε οβσερϖε

τηατ αγεντ Β ρετυρνσ σιγνι�χαντλψ ποσιτιϖε αµουντσ. Ον αϖεραγε, τηεσε αµουντσ

ινχρεασε ιν αγεντ Α�σ τρανσφερ.

Ρεσυλτ 2: Νο δεπρεχιατιον φορ τηε εξπεχτατιον οφ φυτυρε ρεωαρδσ

Αγεντ Β�σ ρετυρν τρανσφερ (γιϖεν ξ > 0) δοεσ νοτ ϖαρψ αχροσσ τρεατµεντσ.

Τηεσε ρεσυλτσ αρε χονσιστεντ ωιτη τηε πρεδιχτιονσ οφ µοδελσ οφ σοχιαλ πρεφερενχεσ

βασεδ ον ουτχοµεσ βυτ ινχονσιστεντ ωιτη τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ.

Ουρ µοδελσ οφ ιντεντιον−βασεδ ρεχιπροχιτψ µαψ πρεδιχτ νο τρεατµεντ δι⁄ερενχεσ φορ

αγεντ Β, βυτ ονλψ φορ ινδιϖιδυαλσ τηατ αρε συ′χιεντλψ ινσενσιτιϖε το ρεχιπροχιτψ χον−

χερνσ ανδ ρετυρν ψ(ξ) = 0 ιν βοτη τρεατµεντσ, ορ φορ ινδιϖιδυαλσ τηατ αρε εξτρεµελψ

σενσιτιϖε το ρεχιπροχιτψ χονχερνσ ανδ ρετυρν ψ(ξ) = 3 � ξ ιν βοτη τρεατµεντσ. Ιν

ουρ δατα τηερε ισ νο εϖιδενχε φορ ινδιϖιδυαλσ τηατ αρε εξτρεµελψ σενσιτιϖε το ρεχι−

προχιτψ χονχερνσ. Τηερε αρε ινδιϖιδυαλσ τηατ σεεµ το βε συ′χιεντλψ ινσενσιτιϖε το

ρεχιπροχιτψ χονχερνσ ανδ ρετυρν νοτηινγ (χφ. Ταβλε 4). Ον αϖεραγε, τηουγη, αγεντσ

Β ρετυρν στριχτλψ ποσιτιϖε αµουντσ. Χονσεθυεντλψ, τηε πρεδιχτιονσ οφ ουρ µοδελσ οφ

ιντεντιον−βασεδ ρεχιπροχιτψ αρε ινχονσιστεντ ωιτη ουρ αγγρεγατε ρεσυλτσ.

Ωε χονχλυδε τηατ τηε κινδνεσσ οφ αν αχτιον ανδ τηε αχτιον�σ ρεωαρδσ αρε νοτ

σποιλεδ βψ τηε αχτορ�σ εξπεχτατιον το ρεχειϖε φυτυρε ρεωαρδσ. Ον αϖεραγε, αχτιονσ

τηατ σεεµ αλτρυιστιχ αρε ρεωαρδεδ βψ οτηερσ. Τηε ρεωαρδσ ϖαρψ ιν τηε αχτιον: Τηε

µορε αλτρυιστιχ τηεψ σεεµ, τηε ηιγηερ αρε τηε αϖεραγε ρεωαρδσ. Τηε αϖεραγε ρεωαρδσ

φορ α γιϖεν αχτιον, τηουγη, αρε ινδεπενδεντ οφ τηε αχτορ�σ εξπεχτατιον το ρεχειϖε

φυτυρε ρεωαρδσ.

4.3 Ποσσιβλε εξπλανατιονσ φορ ουρ �νδινγσ

Ιν τηισ σεχτιον ωε φορµυλατε ποσσιβλε εξπλανατιονσ φορ ουρ �νδινγσ ανδ εϖαλυατε τηεµ

ωιτη θυεστιονναιρε δατα.

4.3.1 Ινχορρεχτ ηιγηερ ορδερ βελιεφσ οφ αγεντ Β

Ασσυµε αγεντ Β δοεσ νοτ εξπεχτ αγεντ Α το εξπεχτ φυτυρε ρεωαρδσ. Τηεν, αγεντ Β

δοεσ νοτ δεπρεχιατε αγεντ Α�σ τρανσφερ. Φροµ οτηερ εξπεριµενταλ στυδιεσ ωε κνοω

τηατ ινδιϖιδυαλσ ηαϖε δι′χυλτιεσ το δραω ινφερενχεσ φροµ οτηερ ινδιϖιδυαλ�σ αχτιονσ
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ανδ χορρεχτλψ φορµ βελιεφσ (ε.γ. Ανδερσον ανδ Ηολτ, 1997; Ηυνγ ανδ Πλοττ, 2001;

Καριϖ, 2005; Ντη ανδ Ωεβερ, 2003; Γοερεε ετ αλ., 2007). Τηισ ισ ωηψ ωε ελιχιτεδ

αγεντ Β�σ αχτυαλ σεχονδ ορδερ βελιεφσ ανδ αναλψζε τηειρ ε⁄εχτ ον ηισ δεχισιον.13 Ωε

ρεγρεσσ αγεντ Β�σ ρετυρν τρανσφερ φορ α γιϖεν ξ ον ξ ανδ ον τηε προδυχτ οφ αγεντ Β�σ

σεχονδ ορδερ βελιεφ ωιτη θ φορ α γιϖεν ξ (ι.ε. αγεντ Β�σ αχτυαλ εξπεχτατιον οφ αγεντ

Α�σ εξπεχτεδ φυτυρε ρετυρνσ φορ α γιϖεν ξ). Φιρστ, ωε εστιµατε αν ΟΛΣ ρεγρεσσιον.

Σεχονδ, ωε ρυν α τωο−σταγε λεαστ σθυαρεσ ινστρυµενταλ ϖαριαβλε ρεγρεσσιον ιν ωηιχη

ωε ινστρυµεντ φορ τηε προδυχτ οφ αγεντ Β�σ σεχονδ ορδερ βελιεφ ωιτη θ φορ α γιϖεν ξ.

Τηε ινστρυµεντ ωε υσε ισ θ ιτσελφ σινχε ιτ ισ εξογενουσ ανδ, βψ δε�νιτιον, χορρελατεδ

ωιτη τηε ινστρυµεντεδ ϖαριαβλε. Ωε ρυν τηε σεχονδ ρεγρεσσιον βεχαυσε αγεντ Β�σ

σεχονδ ορδερ βελιεφ φορ ξ µαψ βε ενδογενουσ ανδ, τηερεφορε, ουρ εστιµατεδ ΟΛΣ

χοε′χιεντ χουλδ βε βιασεδ ανδ ινχονσιστεντ. Ταβλε 6 πρεσεντσ τηε ρεσυλτσ οφ ουρ

ρεγρεσσιονσ φορ ξ > 0.14

Ταβλε 6: Ρεγρεσσιονσ οφ τηε ρετυρν τρανσφερ φορ ξ > 0

∆επενδεντ ϖαριαβλε: ψ(ξ) ΟΛΣ−χ 2ΣΛΣ−Ις−χ

Ιντερχεπτ − 03.05∗∗∗ − 01.67

ξ +00.79∗∗∗ +00.33

Αγεντ Β�σ σεχονδ ορδερ βελιεφ ∗ θ +00.24 +00.77

Νυµβερ οφ οβσερϖατιονσ 124 124

Ρ−σθυαρεδ 0.3384 0.2700

∗, ∗∗, ∗∗∗ σιγνι�χαντ ατ 10, 5, 1 περχεντ σιγνι�χανχε λεϖελ
−χ ωιτη ινδιϖιδυαλ χλυστερσ

Ιν βοτη ρεγρεσσιονσ αγεντ Β�σ αχτυαλ βελιεφ αβουτ αγεντ Α�σ εξπεχτεδ ρετυρν δοεσ

νοτ σιγνι�χαντλψ α⁄εχτ ορ σποιλ αγεντ Β�σ ρετυρν. Ιν ΟΛΣ−χ τηε ονλψ σιγνι�χαντ

ρεγρεσσορ ισ αγεντ Α�σ τρανσφερ: Τηε ηιγηερ αγεντ Α�σ τρανσφερ, τηε µορε αγεντ Β

ρετυρνσ.15

13Αγεντ Β�σ σεχονδ ορδερ βελιεφσ ωερε ελιχιτεδ ιν α νον−ινχεντιϖιζεδ ωαψ αφτερ αγεντ Β µαδε ηισ

δεχισιον. Ωε αρε αωαρε τηατ τηεσε σεχονδ ορδερ βελιεφσ µαψ βε α⁄εχτεδ βψ αγεντ Β�σ οων δεχισιον.

Τηερεφορε, ωε χηεχκεδ ωηετηερ αγεντ Β�σ ελιχιτεδ σεχονδ ορδερ βελιεφσ σιγνι�χαντλψ δι⁄ερ φροµ τηοσε

ελιχιτεδ βψ αγεντσ Β ωηο διδ νοτ δεχιδε υπον ψ(ξ) βεχαυσε τηε λοττερψ στοππεδ τηε γαµε αφτερ αγεντ

Α�σ δεχισιον. Ωε ρυν Μανν−Ωηιτνεψ−Υ τεστσ ανδ δο νοτ �νδ α σιγνι�χαντ δι⁄ερενχε. Ηενχε, ωε

ασσυµε τηατ αν αγεντ�σ οων αχτιον δοεσ νοτ ιν�υενχε ηισ σεχονδ ορδερ βελιεφσ το α λαργε εξτεντ.
14Ιν αλλ ρεγρεσσιονσ ωε χονσιδερ ξ > 0 σινχε τηε ρεστριχτιον ον ξ = 20 ωουλδ χονσιδεραβλψ ρεδυχε

ουρ δατα σετ.
15Τηεσε ρεσυλτσ δο νοτ θυαλιτατιϖελψ χηανγε ιφ ωε χοντρολ φορ σεξ, αγε, ανδ συβϕεχτ οφ στυδιεσ.
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Ωε χονχλυδε τηατ ινχορρεχτ ηιγηερ ορδερ βελιεφσ οφ αγεντ Β σεεµ νοτ το βε α

πλαυσιβλε εξπλανατιον φορ ωηψ αν αχτορ�σ εξπεχτατιον οφ φυτυρε ρεωαρδσ δοεσ νοτ

σποιλ ηισ γιφτ.

4.3.2 Ε⁄εχτ ον τηε περχεπτιον ανδ ον εµοτιονσ ονλψ

Αν αχτορ�σ εξπεχτατιον το ρεχειϖε φυτυρε ρεωαρδσ µαψ ονλψ σποιλ τηε ρεαχτορ�σ περ−

χεπτιον οφ τηε γιφτ ορ τηε ρεαχτορ�σ εµοτιονσ ωιτηουτ α⁄εχτινγ τηε αχτυαλ ρεαχτιον το

τηε γιφτ. Ταβλε 7 ρεπορτσ ονε−σιδεδ π−ϖαλυεσ οφ Μανν−Ωηιτνεψ−Υ τεστσ ον ωηετηερ

(ι) α γιφτ ισ περχειϖεδ µορε κινδ ιν Τ−ΛΟΩ, (ιι) νεγατιϖε εµοτιονσ αρε λεσσ στρονγλψ

εξπεριενχεδ ιν Τ−ΛΟΩ, ανδ (ιιι) ποσιτιϖε εµοτιονσ αρε µορε στρονγλψ εξπεριενχεδ ιν

Τ−ΛΟΩ.16

Φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ τηε αϖεραγε περχειϖεδ κινδνεσσ ισ ηιγηερ ιν Τ−ΛΟΩ

ανδ νεγατιϖε (ποσιτιϖε) εµοτιονσ αρε λεσσ (µορε) στρονγλψ προνουνχεδ ον αϖεραγε

ιν Τ−ΛΟΩ. Ηοωεϖερ, ονλψ φορ σοµε ξ τρεατµεντ δι⁄ερενχεσ αρε σιγνι�χαντ. Ωηιλε

τηερε αρε ηαρδλψ ανψ σιγνι�χαντ δι⁄ερενχεσ φορ τηε περχειϖεδ κινδνεσσ ανδ γλαδνεσσ,

ωε οβσερϖε α φεω φορ αππρεχιατιον ανδ νεγατιϖε εµοτιονσ λικε ανγερ ανδ χοντεµπτ.

Ωε χονχλυδε τηατ αγεντ Α�σ ιντεντιονσ µαψ α⁄εχτ αγεντ Β�σ εµοτιονσ ανδ περ−

χεπτιον οφ αγεντ Α�σ αχτιον. Τηισ ε⁄εχτ, ηοωεϖερ, δοεσ νοτ σεεµ το χαρρψ οϖερ το

αγεντ Β�σ ρεαχτιον.

4.3.3 Οτηερ εξπλανατιονσ

Τηερε αρε οτηερ ποτεντιαλ ρεασονσ φορ ωηψ τηε περχειϖεδ κινδνεσσ οφ αν αχτιον τηατ

σεεµσ αλτρυιστιχ ανδ τηε αχτιον�σ ρεωαρδσ αρε νοτ σποιλεδ βψ τηε αχτορ�σ εξπεχτατιον

οφ φυτυρε ρεωαρδσ ιν ουρ σεττινγ. Ονε ρεασον µαψ βε τηατ αγεντ Β ϖολυνταριλψ δεχιδεσ

ον ηισ ρετυρν τρανσφερ ανδ ισ νοτ φορχεδ το ρετυρν α χερταιν αµουντ. Εξπεχτινγ α

ρετυρν τηατ ισ ϖολυνταριλψ γιϖεν µαψ νοτ σποιλ τηε κινδνεσσ οφ αν αχτιον. Τηισ µαψ βε

δι⁄ερεντ φορ εξπεχτινγ α ρετυρν τηατ ισ ινϖολυνταριλψ γιϖεν. Μοδελσ οφ ιντεντιον−βασεδ

ρεχιπροχιτψ δο νοτ αχχουντ φορ τηισ χονσιδερατιον.

16Ιν ουρ θυεστιονναιρε αγεντσ Β ινδιχατεδ ον α σχαλε ρανγινγ φροµ 1 το 7 ηοω κινδ τηεψ περχειϖε

α γιϖεν τρανσφερ βψ αγεντ Α. 1 ρεπρεσεντεδ ∀ϖερψ υνκινδ∀, ωηιλε 7 ρεπρεσεντεδ ∀ϖερψ κινδ∀. Φυρ−

τηερµορε, τηεψ ινδιχατεδ ον α σχαλε ρανγινγ φροµ 1 το 7 ωιτη ωηιχη ιντενσιτψ τηεψ ηψποτηετιχαλλψ

σενσεδ αν εµοτιον φορ εαχη ξ. Ιφ τηεψ διδ νοτ σενσε αν εµοτιον ατ αλλ, τηεψ ωερε ασκεδ το ινδιχατε

1 φορ τηισ παρτιχυλαρ εµοτιον ανδ γιϖεν ξ.
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Ταβλε 7: Ονε−σιδεδ π−ϖαλυεσ οφ Μανν−Ωηιτνεψ−Υ τεστσ ον κινδνεσσ ανδ εµοτιονσ

Αττριβυτε ξ Μεαν ιν Τ−ΗΙΓΗ Μεαν ιν Τ−ΛΟΩ π−ϖαλυε

Περχειϖεδ 0 1.75 2.33 0.1058

κινδνεσσ 5 2.88 3.27 0.0964

10 4.00 4.67 0.0284

15 5.56 5.60 0.2567

20 6.38 6.47 0.2294

Ανγερ 0 4.44 3.67 0.1449

5 3.50 2.53 0.0669

10 2.75 1.47 0.0154

15 2.00 1.13 0.0023

20 1.25 1.00 0.0820

Χοντεµπτ 0 4.69 3.40 0.0358

5 3.56 2.53 0.0384

10 2.88 1.60 0.0079

15 2.25 1.47 0.0097

20 1.88 1.40 0.4185

Γλαδνεσσ 0 1.19 1.73 0.2011

5 3.06 3.53 0.1242

10 4.31 4.80 0.0989

15 5.56 5.73 0.3273

20 6.56 6.87 0.1791

Αππρεχιατιον 0 1.81 2.40 0.1439

5 2.56 3.67 0.0054

10 3.63 4.80 0.0060

15 4.50 5.33 0.0579

20 5.44 5.80 0.3954

Νυµβερ οφ οβσερϖατιονσ ιν Τ−ΗΙΓΗ: 16, ιν Τ−ΛΟΩ: 15

Ανοτηερ ρεασον µαψ βε τηατ κινδνεσσ ισ νοτ αν αβσολυτε µεασυρε βυτ α ρελατιϖε

ονε τηατ χονσιδερσ τηε ρανκινγ οφ αχτιονσ φορ α γιϖεν αχτιον σετ. ξ = 20, φορ εξαµπλε,

µαψ βε περχειϖεδ ασ τηε κινδεστ αχτιον οφ αγεντ Α�σ αχτιον σετ ιν α τρεατµεντ ανδ,

τηερεφορε, ωουλδ βε εϖαλυατεδ ασ εθυαλλψ κινδ ιν βοτη τρεατµεντσ.
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5 Χονχλυσιον

Ωε ηαϖε πρεσεντεδ αν εξπεριµενταλ στυδψ ον ωηετηερ τηε περχειϖεδ κινδνεσσ οφ αν

αχτιον τηατ σεεµσ αλτρυιστιχ, ι.ε. α χοστλψ αχτιον τηατ βενε�τσ οτηερσ, ανδ τηε αχτιον�σ

ρεωαρδσ αρε ρεδυχεδ βψ τηε αχτορ�σ εξπεχτατιον το ρεχειϖε φυτυρε ρεωαρδσ.

Ουρ ρεσυλτσ συγγεστ τηατ βεηαϖιορ τηατ σεεµσ αλτρυιστιχ ισ ρεωαρδεδ. Τηε µορε αλ−

τρυιστιχ ιτ σεεµσ, τηε ηιγηερ ισ τηε ρεωαρδ ιν ρετυρν. Ιν ουρ εξπεριµεντ σεχονδ µοϖερσ

ιν α µοδι�εδ τρυστ γαµε ρετυρν σιγνι�χαντλψ ποσιτιϖε ρεωαρδσ το �ρστ µοϖερσ. Ον

αϖεραγε, τηεσε ρεωαρδσ ινχρεασε ιν τηε �ρστ µοϖερ�σ τρανσφερ. Τηε ρεωαρδ φορ α γιϖεν

αχτιον, ηοωεϖερ, δοεσ νοτ ϖαρψ ιν τηε αχτορ�σ εξπεχτατιον το ρεχειϖε φυτυρε ρεωαρδσ.

Ωε οβσερϖε ιν τηε µοδι�εδ τρυστ γαµε τηατ ρετυρν τρανσφερσ δο νοτ σιγνι�χαντλψ

ϖαρψ ιν τηε προβαβιλιτψ τηατ τηε σεχονδ µοϖερ χαν ρεχιπροχατε. Τηε σεχονδ µοϖερ�σ

ρετυρν τρανσφερ ισ εϖεν σλιγητλψ ηιγηερ ωηεν τηε προβαβιλιτψ τηατ τηε σεχονδ µοϖερ

χαν ρεχιπροχατε ισ 0.8 ρατηερ τηαν 0.5 φορ σοµε ϖαλυεσ οφ ξ. Τηεσε οβσερϖατιονσ αρε

χονσιστεντ ωιτη τηε πρεδιχτιονσ οφ µοδελσ οφ σοχιαλ πρεφερενχεσ βασεδ ον ουτχοµεσ

βυτ ινχονσιστεντ ωιτη τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ ανδ ουρ µοδελσ οφ

ιντεντιον−βασεδ ρεχιπροχιτψ. Ηενχε, ινδιϖιδυαλσ ιν τηισ σεττινγ σεεµ το χονδιτιον τηειρ

βεηαϖιορ ον ουτχοµεσ ρατηερ τηαν ον ιντεντιονσ.

Τηεσε ρεσυλτσ σεεµ το βε ρελεϖαντ φορ πολιτιχαλ ασ ωελλ ασ χοµµερχιαλ χαµπαιγνσ,

ωηιχη οφτεν τρψ το γαιν τηε συππορτ οφ α λαργε γρουπ οφ ινδιϖιδυαλσ βψ βεηαϖινγ ιν

α ωαψ τηατ σεεµσ αλτρυιστιχ, ε.γ. βψ διστριβυτινγ σµαλλ γιφτσ. Ινδιϖιδυαλσ µαψ ωελλ

αντιχιπατε τηατ τηεσε γιφτσ αρε ιντενδεδ το γαιν τηειρ συππορτ. Ιν τηε λιγητ οφ ουρ

ρεσυλτσ, ηοωεϖερ, ωε ωουλδ χονχλυδε τηατ τηισ δοεσ νοτ διµινιση τηε ε⁄εχτιϖενεσσ οφ

τηε σµαλλ γιφτσ. Σιµιλαρλψ, ιν σοµε οργανιζατιονσ ωορκερσ αρε �νανχιαλλψ ινχεντιϖιζεδ

το ηελπ τηειρ χολλεαγυεσ.17 Τηερεφορε, ωορκερσ µαψ αντιχιπατε τηατ τηε ηελπ οφ α

χολλεαγυε ισ µοτιϖατεδ βψ ρεχειϖινγ �νανχιαλ ρεωαρδσ. Ωε ωουλδ χονχλυδε τηατ τηισ

δοεσ νοτ διµινιση τηε περχειϖεδ κινδνεσσ οφ ηελπ ανδ δοεσ νοτ ηαρµ τηε ωιλλινγνεσσ

το ρεωαρδ τηισ αχτιον.

Τηισ εξπεριµενταλ στυδψ αλσο χοντριβυτεσ το τηε δισχυσσιον οφ ιντεντιονσ. Ουρ

ρεσυλτσ συγγεστ τηατ α σπεχι�χ κινδ οφ ιντεντιονσ, ναµελψ το εξπεχτ α ρετυρν, δοεσ

νοτ σιγνι�χαντλψ α⁄εχτ τηε ρεαχτιον το αν αχτιον τηατ σεεµσ αλτρυιστιχ. Οφ χουρσε,

ιντεντιονσ µαψ ωελλ βε χρυχιαλ φορ οτηερ σορτσ οφ βεηαϖιορ, ε.γ. φορ τηε ρεαχτιον

το σοχιαλλψ υνδεσιρεδ βεηαϖιορ. Ιντεντιονσ πλαψ αν ιµπορταντ ρολε ιν χριµιναλ λαω.

Ηενχε, τηε ε⁄εχτ οφ ιντεντιονσ µαψ δεπενδ ον τηε σπεχι�χ χοντεξτ.

17Α ωορκερ�σ ωαγε µαψ, φορ ινστανχε, δεπενδ ον τηε περφορµανχε οφ ηισ χολλεαγυεσ.
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6 Αππενδιξ

6.1 Εξπεριµενταλ σεσσιονσ ανδ ινστρυχτιονσ

6.1.1 Εξπεριµενταλ σεσσιονσ

Τηε ορδερ οφ εϖεντσ δυρινγ εαχη εξπεριµενταλ σεσσιον ωασ τηε φολλοωινγ: Ινδιϖιδυ−

αλσ ωερε ωελχοµεδ ανδ ρανδοµλψ ασσιγνεδ α χυβιχλε ιν τηε λαβορατορψ ωηερε τηεψ

τοοκ τηειρ δεχισιονσ ιν χοµπλετε ανονψµιτψ φροµ τηε οτηερ ινδιϖιδυαλσ. Τηε ρανδοµ

αλλοχατιον το α χυβιχλε αλσο δετερµινεδ αν ινδιϖιδυαλ�σ ρολε. Τηε ινστρυχτιονσ φορ

τηε εξπεριµεντ, ωηιχη εαχη ινδιϖιδυαλ φουνδ ιν ηισ χυβιχλε, ωερε ρεαδ αλουδ. Τηεν,

ινδιϖιδυαλσ χουλδ γο τηρουγη τηε ινστρυχτιονσ ον τηειρ οων ανδ ασκ θυεστιονσ. Αφτερ

αλλ ρεµαινινγ θυεστιονσ ωερε ανσωερεδ ανδ νο ινδιϖιδυαλ νεεδεδ µορε τιµε το γο

τηρουγη τηε ινστρυχτιονσ, τηεψ ηαδ το ανσωερ α σετ οφ χοντρολ θυεστιονσ χονχερνινγ

τηε προχεδυρε οφ τηε εξπεριµεντ. Αφτερ εαχη ινδιϖιδυαλ ανσωερεδ αλλ χοντρολ θυεσ−

τιονσ χορρεχτλψ, παρτιχιπαντσ ωερε ινφορµεδ αβουτ τηειρ ρολε ιν τηε εξπεριµεντ ανδ

ωε προχεεδεδ το τηε δεχισιον σταγεσ. Φιρστ, αγεντσ Α δεχιδεδ υπον ξ. Σεχονδ, α

χοµπυτερ προγραµ δετερµινεδ ρανδοµλψ ωηιχη γαµεσ οφ α σεσσιον ωερε στοππεδ.

Εαχη γαµε οφ α σεσσιον ηαδ τηε σαµε προβαβιλιτψ τηατ ιτ ισ στοππεδ, ωηιχη χορρε−

σπονδεδ το θ οφ τηε ιµπλεµεντεδ τρεατµεντ οφ τηε σεσσιον. Τηιρδ, αγεντσ Β ωερε

ινφορµεδ αβουτ ωηετηερ τηε γαµε ωασ στοππεδ ορ νοτ. Ιν χασε τηε γαµε ωασ νοτ

στοππεδ αγεντσ Β δεχιδεδ υπον τηε ρετυρν τρανσφερ φορ εαχη ξ. Ιν χασε τηε γαµε

ωασ στοππεδ αγεντσ Β ωερε ασκεδ ωηατ τηεψ ωουλδ τρανσφερ ιν ρετυρν φορ εαχη ξ ιφ

τηε γαµε χοντινυεδ. Αφτερ τηε παρτιχιπαντσ µαδε τηειρ δεχισιονσ, τηεψ ωερε ασκεδ

θυεστιονσ ωηοσε ανσωερσ ωερε νοτ ρελατεδ το ανψ παψµεντ, ε.γ. αγεντσ Α ωερε ασκεδ

ηοω µανψ ποιντσ τηεψ βελιεϖε αγεντ Β τρανσφερσ ιν ρετυρν φορ εαχη ξ γιϖεν τηε γαµε

ισ νοτ στοππεδ, ανδ αγεντσ Β ωερε ασκεδ ωηιχη ιντενσιτιεσ οφ χερταιν εµοτιονσ τηεψ

ωουλδ εξπεριενχε φορ εαχη ξ. Αφτερ αλλ παρτιχιπαντσ ανσωερεδ τηε θυεστιονσ ποσεδ

το τηεµ, αλλ αγεντσ ωερε ινφορµεδ αβουτ τηε ουτχοµε οφ τηε γαµε, ι.ε. αγεντ Α�σ

δεχισιον, νατυρε�σ ρανδοµ µοϖε ον ωηετηερ τηε γαµε στοπσ ριγητ αφτερ αγεντ Α�σ

δεχισιον, ανδ − ιν χασε τηε γαµε ωασ νοτ στοππεδ − αγεντ Β�σ δεχισιον φορ τηε χορρε−

σπονδινγ ξ. Φιναλλψ, ωε ελιχιτεδ δεµογραπηιχ ϖαριαβλεσ συχη ασ σεξ, αγε ανδ συβϕεχτ

οφ στυδιεσ. Ατ τηε ενδ οφ τηε σεσσιον ινδιϖιδυαλσ ωερε παιδ ιν χαση αχχορδινγ το τηειρ

εαρνεδ αµουντ ιν τηε µοδι�εδ τρυστ γαµε πλυσ α σηοω−υπ φεε οφ 5 Ευρο.

Τηε ινστρυχτιονσ ωερε οριγιναλλψ ωριττεν ιν Γερµαν. Τηε τρανσλατεδ ινστρυχτιονσ

φορ Τ−ΗΙΓΗ χαν βε φουνδ ιν τηε φολλοωινγ. Τηε ινστρυχτιονσ φορ Τ−ΛΟΩ αρε τηε σαµε

εξχεπτ τηατ τηε προβαβιλιτψ τηατ τηε γαµε χοντινυεσ ριγητ αφτερ αγεντ Α�σ δεχισιον ισ
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50 % (ινστεαδ οφ 80 %).

6.1.2 Τρανσλατεδ ινστρυχτιονσ φορ Τ−ΗΙΓΗ

Ινστρυχτιονσ φορ τηε εξπεριµεντ

Ωελχοµε το τηισ εξπεριµεντ. Ψου ανδ τηε οτηερ παρτιχιπαντσ αρε ασκεδ το µακε

δεχισιονσ. Ψουρ δεχισιονσ ασ ωελλ ασ τηε δεχισιονσ οφ τηε οτηερ παρτιχιπαντσ δετερµινε

τηε ρεσυλτ οφ τηε εξπεριµεντ. Ατ τηε ενδ οφ τηε εξπεριµεντ ψου ωιλλ βε παιδ ιν χαση

αχχορδινγ το τηε αχτυαλ ρεσυλτ οφ τηε εξπεριµεντ. Σο πλεασε ρεαδ τηε ινστρυχτιονσ

αττεντιϖελψ ανδ τηινκ αβουτ ψουρ δεχισιονσ χαρεφυλλψ. Ιν αδδιτιον, ψου ρεχειϖε �

ινδεπενδεντ οφ τηε ρεσυλτ οφ τηε εξπεριµεντ − α σηοω υπ φεε οφ 5 Ευρο.

∆υρινγ τηε ωηολε εξπεριµεντ ιτ ισ νοτ αλλοωεδ το ταλκ ωιτη οτηερ παρτιχιπαντσ, το

υσε µοβιλε πηονεσ, ορ το σταρτ οτηερ προγραµσ ον τηε χοµπυτερ. Τηε χοντεµπτ οφ

τηεσε ρυλεσ ιµµεδιατελψ λεαδσ το τηε εξχλυσιον οφ τηε εξπεριµεντ ανδ οφ αλλ παψµεντσ.

Ιφ ψου ηαϖε ανψ θυεστιονσ, πλεασε ραισε ψουρ ηανδ. Αν ινστρυχτορ οφ τηε εξπεριµεντ

ωιλλ τηεν χοµε το ψουρ σεατ ιν ορδερ το ανσωερ ψουρ θυεστιονσ.

∆υρινγ τηε εξπεριµεντ ωε ταλκ αβουτ ποιντσ ρατηερ τηαν αβουτ Ευροσ. Ψουρ

ωηολε ινχοµε ισ ινιτιαλλψ χαλχυλατεδ ιν ποιντσ. Ατ τηε ενδ οφ τηε εξπεριµεντ ψουρ

αχτυαλ αµουντ οφ τοταλ ποιντσ ισ χονϖερτεδ ιντο Ευροσ αχχορδινγ το τηε φολλοωινγ ρατε:

1 ποιντ = 30 Χεντσ.

Ιν τηισ εξπεριµεντ τηερε αρε παρτιχιπαντσ Α ανδ παρτιχιπαντσ Β. Βεφορε τηε

εξπεριµεντ σταρτσ, ψου αρε ινφορµεδ ωηετηερ ψου αρε α παρτιχιπαντ Α ορ α παρτιχιπαντ

Β. Ωηιλε εντερινγ τηε ροοµ τηισ ωασ ρανδοµλψ δετερµινεδ. Ιφ ψου αρε παρτιχιπαντ

Α, ψου αρε ρανδοµλψ ανδ ανονψµουσλψ µατχηεδ το α παρτιχιπαντ Β. Ιφ ψου αρε παρ−

τιχιπαντ Β, ψου αρε ρανδοµλψ ανδ ανονψµουσλψ µατχηεδ το α παρτιχιπαντ Α. Νειτηερ

δυρινγ νορ αφτερ τηε εξπεριµεντ ψου ρεχειϖε ανψ ινφορµατιον αβουτ τηε ιδεντιτψ οφ

ψουρ µατχηεδ παρτιχιπαντ. Λικεωισε, ψουρ µατχηεδ παρτιχιπαντ δοεσ νοτ ρεχειϖε ανψ

ινφορµατιον αβουτ ψουρ ιδεντιτψ.

Τηε προχεδυρε

Παρτιχιπαντ Α ηασ αν ινιτιαλ ενδοωµεντ οφ 20 ποιντσ. Παρτιχιπαντ Β ηασ αν ινιτιαλ

ενδοωµεντ οφ 0 ποιντσ.

Παρτιχιπαντ Α χαν δεχιδε ηοω µυχη οφ ηισ ινιτιαλ ενδοωµεντ ηε τρανσφερσ το

παρτιχιπαντ Β. Παρτιχιπαντ Α χαν ειτηερ χηοοσε 0, 5, 10, 15 ορ 20 ποιντσ.
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Ιν ορδερ το µακε τηισ δεχισιον, παρτιχιπαντ Α σελεχτσ ονε αµουντ ον τηε φολλοωινγ

χοµπυτερ σχρεεν ανδ πρεσσεσ τηε ΟΚ−βυττον.

Παρτιχιπαντ Α�σ τρανσφερ ισ τηεν τριπλεδ ανδ σεντ το παρτιχιπαντ Β.
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Αφτερ παρτιχιπαντ Α χηοσε ηισ τρανσφερ ανδ παρτιχιπαντ Α�σ τριπλεδ

τρανσφερ ωασ σεντ το παρτιχιπαντ Β, ιτ ισ ρανδοµλψ δετερµινεδ ωηετηερ τηε

εξπεριµεντ ισ στοππεδ ατ τηισ ποιντ ιν τιµε.

� Ωιτη τηε προβαβιλιτψ οφ 20% τηε εξπεριµεντ ισ στοππεδ ατ τηισ ποιντ ιν τιµε.

Ιν τηισ χασε παρτιχιπαντ Α ρεχειϖεσ ηισ ινιτιαλ ενδοωµεντ µινυσ ηισ

τρανσφερ, ανδ παρτιχιπαντ Β ρεχειϖεσ παρτιχιπαντ Α�σ τριπλεδ τρανσφερ.

� Ωιτη τηε προβαβιλιτψ οφ 80% τηε εξπεριµεντ ισ νοτ στοππεδ ατ τηισ ποιντ ιν

τιµε ανδ παρτιχιπαντ Β δεχιδεσ ωηιχη ιντεγερ βετωεεν 0 ανδ παρτιχιπαντ Α�σ

τριπλεδ τρανσφερ (ινχλυδινγ 0 ανδ παρτιχιπαντ Α�σ τριπλεδ τρανσφερ) ηε τρανσφερσ

βαχκ το παρτιχιπαντ Α. Ιν τηισ χασε παρτιχιπαντ Α ρεχειϖεσ ηισ ινιτιαλ

ενδοωµεντ µινυσ ηισ τρανσφερ πλυσ παρτιχιπαντ Β�σ βαχκ τρανσφερ,

ανδ παρτιχιπαντ Β ρεχειϖεσ παρτιχιπαντ Α�σ τριπλεδ τρανσφερ µινυσ ηισ

βαχκ τρανσφερ.

Ιν χασε τηε εξπεριµεντ ισ νοτ στοππεδ ριγητ αφτερ παρτιχιπαντ Α�σ δεχισιον, παρτιχ−

ιπαντ Β µακεσ τηε δεχισιον αβουτ τηε βαχκ τρανσφερ. Ιν ορδερ το δο τηατ, παρτιχιπαντ

Β ινδιχατεσ φορ εαχη ποσσιβλε τρανσφερ οφ παρτιχιπαντ Α ηισ σελεχτεδ αµουντ ον τηε φολ−

λοωινγ χοµπυτερ σχρεεν ανδ πρεσσεσ τηε ΟΚ−βυττον. ∆επενδινγ ον ωηατ παρτιχιπαντ

Α τρανσφερρεδ, παρτιχιπαντ Β�σ χορρεσπονδινγ εντρψ ισ τρανσφερρεδ βαχκ το παρτιχιπαντ

Α.
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Παρτιχιπαντ Β µακεσ τηισ δεχισιον ονλψ ιφ τηε εξπεριµεντ ωασ νοτ στοππεδ ριγητ

αφτερ παρτιχιπαντ Α�σ δεχισιον.

Εξαµπλε 1: Παρτιχιπαντ Α χηοοσεσ α τρανσφερ οφ 15 ποιντσ. Τηεν, ιτ ισ ρανδοµλψ

δετερµινεδ τηατ τηε εξπεριµεντ ισ στοππεδ ριγητ αφτερ παρτιχιπαντ Α�σ δεχισιον. Παρ−

τιχιπαντ Α ρεχειϖεσ 20 � 15 ποιντσ = 5 ποιντσ. Παρτιχιπαντ Β ρεχειϖεσ 3 ∗ 15 ποιντσ

= 45 ποιντσ.

Εξαµπλε 2: Παρτιχιπαντ Α χηοοσεσ α τρανσφερ οφ 15 ποιντσ. Τηεν, ιτ ισ ρανδοµλψ

δετερµινεδ τηατ τηε εξπεριµεντ ισ νοτ στοππεδ ριγητ αφτερ παρτιχιπαντ Α�σ δεχισιον.

Παρτιχιπαντ Β χηοοσεσ α βαχκ τρανσφερ οφ 39 ποιντσ ιφ παρτιχιπαντ Α τρανσφερρεδ 15

ποιντσ. Παρτιχιπαντ Α ρεχειϖεσ 20 � 15 + 39 ποιντσ = 44 ποιντσ. Παρτιχιπαντ Β

ρεχειϖεσ 3 ∗ 15 � 39 ποιντσ = 6 ποιντσ.

Τηε προχεδυρε ισ ιλλυστρατεδ βψ τηε φολλοωινγ γραπη:
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Αφτερ τηισ προχεδυρε παρτιχιπαντ Α ανδ παρτιχιπαντ Β αρε βοτη ινφορµεδ αβουτ

παρτιχιπαντ Α�σ τρανσφερ, αβουτ ωηετηερ τηε εξπεριµεντ ωασ στοππεδ ριγητ αφτερ παρ−

τιχιπαντ Α�σ δεχισιον, ανδ − ιν χασε τηε εξπεριµεντ ωασ νοτ στοππεδ ριγητ αφτερ παρ−

τιχιπαντ Α�σ δεχισιον − αβουτ παρτιχιπαντ Β�σ βαχκ τρανσφερ. Τηεν, τηε εξπεριµεντ

ενδσ. Τηε προχεδυρε ισ νοτ ρεπεατεδ.

∆υρινγ τηε χουρσε οφ τηε εξπεριµεντ ψου µιγητ βε ασκεδ το ανσωερ θυεστιονσ.

Τηε ανσωερσ το τηεσε θυεστιονσ δο νοτ α⁄εχτ τηε παψµεντσ ανδ τηε προχεδυρε οφ

τηε εξπεριµεντ. Τηεψ αρε τρεατεδ ανονψµουσλψ ανδ αρε νοτ σεντ το ψουρ µατχηεδ

παρτιχιπαντ ορ ανψ οτηερ παρτιχιπαντ.

Βεφορε ψου αρε ινφορµεδ ωηετηερ ψου αρε παρτιχιπαντ Α ορ παρτιχιπαντ Β ανδ τηε

εξπεριµεντ σταρτσ, ψου αρε ασκεδ το ανσωερ σεϖεραλ χοντρολ θυεστιονσ χονχερνινγ τηε

προχεδυρε οφ τηε εξπεριµεντ.

Ιφ ψου ηαϖε ανψ θυεστιονσ, πλεασε ραισε ψουρ ηανδ. Αν ινστρυχτορ οφ τηε εξπεριµεντ

ωιλλ τηεν χοµε το ψουρ σεατ ιν ορδερ το ανσωερ ψουρ θυεστιονσ.
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6.2 Βεηαϖιοραλ πρεδιχτιονσ οφ τηε ∆Κ−σπεχι�χατιον

6.2.1 Τηε βασιχ µοδελ βψ ∆υφωενβεργ ανδ Κιρχηστειγερ (2004)

Ιν ∆υφωενβεργ ανδ Κιρχηστειγερ (2004) ινδιϖιδυαλ ι�σ υτιλιτψ φυνχτιον ιν α 2−πλαψερ

γαµε ωιτη ινδιϖιδυαλ ϕ ισ δε�νεδ ιν τηε φολλοωινγ ωαψ:

Υι = �ι + Ψι � �ι � �ι,

ωηερε �ι ρεπρεσεντσ ινδιϖιδυαλ ι�σ εξπεχτατιον οφ ηισ οωνµατεριαλ παψο⁄ τηατ δεπενδσ

ον ηισ στρατεγψ ανδ ηισ βελιεφ αβουτ ινδιϖιδυαλ ϕ�σ στρατεγψ, Ψι > 0 ινδιϖιδυαλ ι�σ

παραµετερ οφ σενσιτιϖιτψ το ρεχιπροχιτψ χονχερνσ, �ι ινδιϖιδυαλ ι�σ περχεπτιον οφ τηε

κινδνεσσ οφ ηισ οων στρατεγψ, ανδ �ι ινδιϖιδυαλ ι�σ περχεπτιον οφ τηε κινδνεσσ οφ

ινδιϖιδυαλ ϕ�σ στρατεγψ. Ψι ισ α παραµετερ τηατ ισ εξογενουσλψ γιϖεν, ωηερεασ �ι,

�ι, ανδ �ι δεπενδ ον ινδιϖιδυαλ ι�σ στρατεγψ, ινδιϖιδυαλ ι�σ βελιεφ αβουτ ινδιϖιδυαλ

ϕ�σ στρατεγψ, ανδ ινδιϖιδυαλ ι�σ βελιεφ αβουτ ινδιϖιδυαλ ϕ�σ βελιεφ αβουτ ινδιϖιδυαλ ι�σ

στρατεγψ.

∆υφωενβεργ ανδ Κιρχηστειγερ (2004) δε�νε �ι ασ ινδιϖιδυαλ ι�σ εξπεχτατιον οφ

ινδιϖιδυαλ ϕ�σ µατεριαλ παψο⁄ µινυσ α ρεφερενχε παψο⁄ ωηιχη ισ τηε µεαν οφ τηε

µαξιµυµ ανδ τηε µινιµυµ εξπεχτεδ µατεριαλ παψο⁄ ινδιϖιδυαλ ι βελιεφσ ηε χουλδ

ασσιγν το ινδιϖιδυαλ ϕ βψ ϖαρψινγ ηισ στρατεγψ.18 �ι ισ δε�νεδ ασ ινδιϖιδυαλ ι�σ βελιεφ

αβουτ ινδιϖιδυαλ ϕ�σ εξπεχτατιον οφ ινδιϖιδυαλ ι�σ µατεριαλ παψο⁄ µινυσ α ρεφερενχε

παψο⁄ ωηιχη ισ τηε µεαν οφ τηε µαξιµυµ ανδ τηε µινιµυµ εξπεχτεδ µατεριαλ

παψο⁄ ινδιϖιδυαλ ι βελιεφσ τηατ ινδιϖιδυαλ ϕ βελιεφσ ηε χουλδ ασσιγν το ινδιϖιδυαλ ι βψ

ϖαρψινγ ηισ στρατεγψ.

Νοτε τηατ αν ινδιϖιδυαλ�σ βελιεφσ αρε υπδατεδ ιν τηε χουρσε οφ τηε γαµε ανδ,

τηερεφορε, µαψ δι⁄ερ αφτερ δι⁄ερεντ ηιστοριεσ οφ πλαψ. Υπδατεδ βελιεφσ αφτερ α γιϖεν

ηιστορψ εθυαλ ινιτιαλ βελιεφσ, εξχεπτ φορ τηε χηοιχεσ τηατ ωερε αλρεαδψ µαδε ανδ λεαδ

το τηε γιϖεν ηιστορψ. Υπδατεδ βελιεφσ ασσιγν α προβαβιλιτψ οφ 1 το αλρεαδψ µαδε

χηοιχεσ. Χονσιδερ, φορ εξαµπλε, ινδιϖιδυαλ ι τηατ ινιτιαλλψ βελιεϖεσ ινδιϖιδυαλ ϕ το

πλαψ αχτιον α ωιτη προβαβιλιτψ π ανδ αχτιον β ωιτη προβαβιλιτψ 1 � π (ωηιχη µαψ,

ινδεεδ, βε χορρεχτ). Αφτερ ινδιϖιδυαλ ϕ�σ αχτιον α ηασ ρεαλιζεδ, ινδιϖιδυαλ ι βελιεϖεσ

τηατ ινδιϖιδυαλ ϕ ηασ χηοσεν α ωιτη προβαβιλιτψ 1 (ανδ νοτ π). Ασ βελιεφσ αρε υπδατεδ,

αλσο αν ινδιϖιδυαλ�σ περχεπτιον οφ τηε κινδνεσσ οφ ηισ οων στρατεγψ ανδ οφ τηε οτηερ

ινδιϖιδυαλ�σ στρατεγψ αρε υπδατεδ ιν τηε χουρσε οφ τηε γαµε ανδ µαψ δι⁄ερ αφτερ

δι⁄ερεντ ηιστοριεσ οφ πλαψ.

18∆υφωενβεργ ανδ Κιρχηστειγερ (2004) δε�νε τηε ρεφερενχε παψο⁄ ιν α µορε γενεραλ ωαψ τηατ ισ

εθυιϖαλεντ το ουρ νοτιον ιν ουρ σετυπ.
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∆υφωενβεργ ανδ Κιρχηστειγερ (2004) ιντροδυχε τηε σεθυεντιαλ ρεχιπροχιτψ εθυι−

λιβριυµ (ΣΡΕ) ιν ωηιχη εαχη πλαψερ ιν εαχη οφ ηισ δεχισιον νοδεσ µακεσ χηοιχεσ

τηατ µαξιµιζε ηισ υτιλιτψ φορ τηε γιϖεν ηιστορψ, γιϖεν ηισ υπδατεδ �ρστ ανδ σεχονδ

ορδερ βελιεφσ, ανδ γιϖεν τηατ ηε φολλοωσ ηισ εθυιλιβριυµ στρατεγψ ατ οτηερ ηιστοριεσ.

Φυρτηερµορε, αλλ πλαψερσ� ινιτιαλ �ρστ ανδ σεχονδ ορδερ βελιεφσ αρε χορρεχτ.

6.2.2 Ουρ σπεχι�χατιον

∆υφωενβεργ ανδ Κιρχηστειγερ (2004) ρεστριχτ αττεντιον το �νιτε µυλτι−σταγε γαµεσ

ωιτηουτ νατυρε. Φορ ουρ χοντεξτ, ωε χουλδ σιµπλψ υσε τηειρ φραµεωορκ ανδ χονσιδερ

νατυρε ασ α τηιρδ πλαψερ ωηο αλωαψσ χηοοσεσ το στοπ τηε γαµε ωιτη προβαβιλιτψ 1� θ

ανδ το χοντινυε τηε γαµε ωιτη προβαβιλιτψ θ, ανδ το ωηοµ αγεντ Α ανδ αγεντ Β

αρε ινσενσιτιϖε το ρεχιπροχιτψ χονχερνσ. Τηισ, ηοωεϖερ, λεαδσ το αν υνιντυιτιϖε ωαψ

οφ εϖαλυατινγ αγεντ Α�σ κινδνεσσ ιν τηε χουρσε οφ τηε γαµε: Ατ τηε βεγιννινγ οφ τηε

γαµε αγεντ Β ηασ σοµε ινιτιαλ βελιεφ αβουτ αγεντ Α�σ στρατεγψ, νατυρε�σ στρατεγψ,

ανδ αγεντ Α�σ βελιεφ αβουτ νατυρε�σ στρατεγψ. Αφτερ αγεντ Α�σ χηοσεν αµουντ ισ

τρανσφερρεδ ανδ τηε λοττερψ ηασ χηοσεν το χοντινυε τηε γαµε, αγεντ Β�σ υπδατεδ

βελιεφσ αρε τηατ αγεντ Α ηασ χηοσεν τηε γιϖεν τρανσφερ (ωιτη προβαβιλιτψ 1), τηατ

νατυρε ηασ χηοσεν το χοντινυε τηε γαµε (ωιτη προβαβιλιτψ 1), ανδ τηατ αγεντ Α

βελιεϖεσ τηατ νατυρε ηασ χηοσεν το χοντινυε τηε γαµε (ωιτη προβαβιλιτψ 1). Ιφ αγεντ

Β εϖαλυατεσ τηε κινδνεσσ οφ αγεντ Α�σ στρατεγψ γιϖεν ηισ υπδατεδ βελιεφσ, ηε τακεσ

ιντο χονσιδερατιον τηατ αγεντ Α βελιεϖεσ τηατ νατυρε ηασ χηοσεν το χοντινυε τηε γαµε

ωιτη προβαβιλιτψ 1. Ηοωεϖερ, αγεντ Α�σ βελιεφ αβουτ νατυρε�σ στρατεγψ ωασ δι⁄ερεντ

ατ αγεντ Α�σ δεχισιον νοδε ανδ, τηερεφορε, αγεντ Α�σ ιντεντιονσ ωερε δι⁄ερεντ.

Ιν ορδερ το αϖοιδ τηατ, ωε υνδερτακε α σµαλλ ανδ νατυραλ µοδι�χατιον οφ τηε ωαψ

ηοω αγεντ Β περχειϖεσ τηε κινδνεσσ οφ αγεντ Α�σ στρατεγψ ιν τηε χουρσε οφ τηε γαµε.

Ατ αγεντ Β�σ δεχισιον νοδε ωε λετ ηιµ εϖαλυατε τηε κινδνεσσ οφ αγεντ Α�σ στρατεγψ

ον τηε βασισ οφ ηισ βελιεφ τηατ αγεντ Α βελιεϖεσ τηατ νατυρε ηασ χηοσεν το χοντινυε

τηε γαµε ωιτη προβαβιλιτψ θ ρατηερ τηαν ωιτη προβαβιλιτψ 1.

6.2.3 Αγεντ Β�σ υτιλιτψ φυνχτιον ωηεν ηε ισ ασκεδ το δεχιδε

Χονσιδερ αγεντ Α ηασ χηοσεν ον ξ ανδ τηε λοττερψ ηασ δετερµινεδ το χοντινυε τηε

γαµε. Αγεντ Β, τηεν, δεχιδεσ ον ψ(ξ) 2 [0; 3 � ξ].19 Ατ ηισ δεχισιον νοδε ηε βελιεϖεσ

τηατ αγεντ Α ηασ χηοσεν ξ (ωιτη προβαβιλιτψ 1), τηατ νατυρε ηασ χηοσεν το χοντινυε

τηε γαµε (ωιτη προβαβιλιτψ 1), ανδ τηατ αγεντ Α βελιεϖεσ τηατ αγεντ Β ρετυρνσ

19Ηερε ανδ ιν τηε φολλοωινγ ωε φοχυσ ον αγεντ Β�σ πυρε στρατεγιεσ ονλψ.
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εψ(0) = 0, εψ(5) 2 [0; 15], εψ(10) 2 [0; 30], εψ(15) 2 [0; 45], εψ(20) 2 [0; 60], ωηερε εψ(ξ)
ρεπρεσεντσ αγεντ Β�σ σεχονδ ορδερ βελιεφ φορ ξ.

Τηεν, αγεντ Β�σ εξπεχτατιον οφ ηισ οων µατεριαλ παψο⁄ ισ εθυαλ το

�Β (ψ(ξ); ξ) = 3 � ξ� ψ(ξ),

ανδ αγεντ Β�σ περχεπτιον οφ τηε κινδνεσσ οφ ηισ οων στρατεγψ, ψ(ξ), ισ εθυαλ το

�Β (ψ(ξ); ξ) = 20� ξ+ ψ(ξ)� ρεφ�Β (ξ), ωιτη ρεφ�Β (ξ) =
(20�ξ+0)+(20�ξ+3�ξ)

2
.

Τηε �ρστ τερµ οφ �Β (ψ(ξ); ξ), 20�ξ+ψ(ξ), ρεφερσ το αγεντ Β�σ εξπεχτατιον οφ αγεντ

Α�σ µατεριαλ παψο⁄, ωηιλε τηε σεχονδ, ρεφ�Β (ξ), το τηε χορρεσπονδινγ ρεφερενχε

παψο⁄ τηατ ισ τηε µεαν οφ τηε µινιµυµ ηε (βελιεϖεσ ηε) χαν ασσιγν το αγεντ Α ωιτη

ψ(ξ) 2 [0; 3 � ξ], 20� ξ+ 0, ανδ ιτσ µαξιµυµ, 20� ξ+ 3 � ξ.

Φυρτηερµορε, αγεντ Β�σ περχεπτιον οφ τηε κινδνεσσ οφ αγεντ Α�σ στρατεγψ, ξ, ισ

εθυαλ το

�Β (εψ(�); ξ) = 3 � ξ� θ � εψ(ξ)� ρεφ�Β (εψ(�)).

Τηε �ρστ τερµ οφ �Β (εψ(�); ξ), 3�ξ� θ � εψ(ξ), ρεπρεσεντσ αγεντ Β�σ βελιεφ αβουτ αγεντ
Α�σ εξπεχτατιον οφ αγεντ Β�σ µατεριαλ παψο⁄, ωηιχη δεπενδσ ον αγεντ Β�σ βελιεφ

αβουτ αγεντ Α�σ αχτιον, ξ, ασ ωελλ ασ αγεντ Β�σ βελιεφ αβουτ αγεντ Α�σ βελιεφ αβουτ

αγεντ Β�σ στρατεγψ, εψ(ξ), ανδ νατυρε�σ µοϖε. Τηε σεχονδ τερµ οφ �Β, ρεφ�Β (εψ(�)),
ρεπρεσεντσ τηε χορρεσπονδινγ ρεφερενχε παψο⁄ τηατ ισ τηε µεαν οφ τηε µινιµυµ

αγεντ Β βελιεϖεσ αγεντ Α βελιεϖεσ ηε (αγεντ Α) χαν ασσιγν το αγεντ Β ωιτη ξ 2

φ0; 5; 10; 15; 20γ ανδ ιτσ µαξιµυµ. Ασ εψ(ξ) 2 [0; 3 � ξ], τηε µινιµυµ οφ 3�ξ�θ�εψ(ξ)
ισ εθυαλ το 0 ωηιχη ισ ατταινεδ ατ ξ = 0. Τηε µαξιµυµ οφ 3 � ξ� θ � εψ(ξ) δεπενδσ
ον αγεντ Β�σ σεχονδ ορδερ βελιεφσ εψ(ξ) φορ αλλ ξ. Νοτε τηατ ιτ ισ νοτ νεχεσσαριλψ εθυαλ
το 3 � 20� θ � εψ(20) ωηιχη ισ ατταινεδ ατ ξ = 20.
Ηενχε, αγεντ Β�σ υτιλιτψ φυνχτιον ισ τηε φολλοωινγ

ΥΒ (ψ(ξ); ξ; εψ(�)) = �Β (ψ(ξ); ξ) + ΨΒ � �Β (ψ(ξ); ξ) � �Β (εψ(�); ξ) =
3 � ξ� ψ(ξ) + ΨΒ �

�
ψ(ξ)� 3�ξ

2

�
� (3 � ξ� θ � εψ(ξ)� ρεφ�Β (εψ(�))).

6.2.4 Εθυιλιβριυµ πρεδιχτιονσ

Ιν τηισ συβσεχτιον ωε δεριϖε σοµε στατεµεντσ τηατ ηολδ ιν ανψ ΣΡΕ ιν ωηιχη αγεντ

Β χηοοσεσ α πυρε στρατεγψ ψ(ξ) 2 [0; 3 � ξ] φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ.

1. ψ(ξ) (ωεακλψ) ινχρεασεσ ιν ξ 8 θ 2 (0; 1).
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Συπποσε νοτ. Τηεν τηερε εξιστ ξ0; ξ 2 φ0; 5; 10; 15; 20γ ωιτη ξ0 > ξ βυτ ψ(ξ0) <

ψ(ξ). Ασ ιν ανψ ΣΡΕ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ αρε χορρεχτ, ε.γ. ψ(ξ) = εψ(ξ) ανδ
ψ(ξ0) = εψ(ξ0), αγεντ Β βελιεϖεσ τηατ αγεντ Α ιντενδσ το ασσιγν ηιµ µορε εξπεχτεδ

παψο⁄ ωιτη ξ0 τηαν ωιτη ξ σινχε 3 �ξ0� ψ(ξ0) � θ > 3 �ξ� ψ(ξ) � θ. Ασ ρεφ�Β (εψ(�)) ισ
τηε σαµε υνδερ ξ0 ανδ ξ, ωε ηαϖε �Β (εψ(�); ξ0) > �Β (εψ(�); ξ), ι.ε. αγεντ Β περχειϖεσ
στρατεγψ ξ0 ασ κινδερ τηαν στρατεγψ ξ. Νεϖερτηελεσσ, αγεντ Β ρετυρνσ λεσσ ωηεν ηε

ρεχειϖεσ 3 � ξ0 τηαν ωηεν ηε ρεχειϖεσ 3 � ξ. Φροµ ρεϖεαλεδ πρεφερενχεσ ιτ µυστ βε τηε

χασε τηατ:

ΥΒ (ψ(ξ
0); ξ0; εψ(�)) � ΥΒ (ψ(ξ); ξ0; εψ(�))

ανδ

ΥΒ (ψ(ξ); ξ; εψ(�)) � ΥΒ (ψ(ξ0); ξ; εψ(�))

βεχαυσε ψ(ξ) ισ αϖαιλαβλε γιϖεν ξ0 (σινχε ψ(ξ) � 3 � ξ < 3 � ξ0), ανδ ψ(ξ0) ισ αϖαιλαβλε

γιϖεν ξ (σινχε ψ(ξ0) < ψ(ξ) � 3 � ξ). Τηε τωο ινεθυαλιτιεσ χαν βε ωριττεν ασ

3 � ξ0 � ψ(ξ0) + ΨΒ �
�
ψ(ξ0)� 3

2
� ξ0

�
� �Β (εψ(�); ξ0) �

3 � ξ0 � ψ(ξ) + ΨΒ �
�
ψ(ξ)� 3

2
� ξ0

�
� �Β (εψ(�); ξ0)

ανδ

3 � ξ� ψ(ξ) + ΨΒ �
�
ψ(ξ)� 3

2
� ξ
�
� �Β (εψ(�); ξ) �

3 � ξ� ψ(ξ0) + ΨΒ �
�
ψ(ξ0)� 3

2
� ξ
�
� �Β (εψ(�); ξ)

ωηιχη χαν βε ρεωριττεν ασ

1
ΨΒ
� �Β (εψ(�); ξ0) ανδ 1

ΨΒ
� �Β (εψ(�); ξ).

Τηισ ιµπλιεσ �Β (εψ(�); ξ) � �Β (εψ(�); ξ0) ωηιχη ισ α χοντραδιχτιον.

2. (3 � ξ� ψ(ξ) � θ) (ωεακλψ) ινχρεασεσ ιν ξ 8 θ 2 (0; 1).

Συπποσε νοτ. Τηεν, τηερε εξιστ ξ0; ξ 2 φ0; 5; 10; 15; 20γ ωιτη ξ0 > ξ βυτ

(3 � ξ0 � ψ(ξ0) � θ) < (3 � ξ� ψ(ξ) � θ). Ασ ιν ανψ ΣΡΕ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ

αρε χορρεχτ, ε.γ. ψ(ξ) = εψ(ξ) ανδ ψ(ξ0) = εψ(ξ0), αγεντΒ βελιεϖεσ τηατ αγεντ Α ιντενδσ
σο ασσιγν ηιµ λεσσ παψο⁄ ωιτη ξ0 τηαν ωιτη ξ. Ασ ρεφ�Β (εψ(�)) ισ τηε σαµε υνδερ ξ0

ανδ ξ, ωε ηαϖε �Β (εψ(�); ξ0) < �Β (εψ(�); ξ), ι.ε. αγεντ Β περχειϖεσ στρατεγψ ξ ασ κινδερ
τηαν στρατεγψ ξ0. Φροµ ρεϖεαλεδ πρεφερενχεσ ιτ µυστ βε τηε χασε τηατ:
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ΥΒ (ψ(ξ
0); ξ0; εψ(�)) � ΥΒ (ψ(ξ); ξ0; εψ(�))

ανδ

ΥΒ (ψ(ξ); ξ; εψ(�)) � ΥΒ ((ψ(ξ0)� 3 � (ξ0 � ξ)) ; ξ; εψ(�))

βεχαυσε ψ(ξ) ισ αϖαιλαβλε γιϖεν ξ0 (σινχε ψ(ξ) � 3�ξ < 3�ξ0), ανδ ψ(ξ0)�3� (ξ0 � ξ)

ισ αϖαιλαβλε γιϖεν ξ. Τηε λαττερ ισ τρυε σινχε ψ(ξ0) � 3 � (ξ0 � ξ) � 3 � ξ, ωηιχη ισ

εθυιϖαλεντ το ψ(ξ0) � 3 � ξ0, ανδ ψ(ξ0) � 3 � (ξ0 � ξ) � 0 σινχε τηε αβοϖε ασσυµεδ

(3 � ξ0 � ψ(ξ0) � θ) < (3 � ξ� ψ(ξ) � θ) ιµπλιεσ ψ(ξ0)� 3 � (ξ0 � ξ) > ψ (ξ) � 0. Τηε

τωο ινεθυαλιτιεσ χαν βε ωριττεν ασ

3 � ξ0 � ψ(ξ0) + ΨΒ �
�
ψ(ξ0)� 3

2
� ξ0

�
� �Β (εψ(�); ξ0) �

3 � ξ0 � ψ(ξ) + ΨΒ �
�
ψ(ξ)� 3

2
� ξ0

�
� �Β (εψ(�); ξ0)

ανδ

3 � ξ� ψ(ξ) + ΨΒ �
�
ψ(ξ)� 3

2
� ξ
�
� �Β (εψ(�); ξ) �

3 � ξ� (ψ(ξ0)� 3 � (ξ0 � ξ)) + ΨΒ �
�
(ψ(ξ0)� 3 � (ξ0 � ξ))� 3

2
� ξ
�
� �Β (εψ(�); ξ).

3 � ξ0 � ψ(ξ0) � θ < 3 � ξ� ψ(ξ) � θ ισ εθυιϖαλεντ το 3 � (ξ0 � ξ) < θ � (ψ(ξ0)� ψ(ξ))

ανδ ιµπλιεσ (ι) ψ(ξ0) > ψ(ξ) ανδ (ιι) 3 � (ξ0 � ξ) < ψ(ξ0)� ψ(ξ) ωηιχη ισ εθυιϖαλεντ

το ψ(ξ0)� 3 � (ξ0 � ξ) > ψ(ξ). Τηερεφορε, ωε χαν βε ρεωριτε τηε τωο ινεθυαλιτιεσ ασ

�Β (εψ(�); ξ0) � 1
ΨΒ
ανδ �Β (εψ(�); ξ) � 1

ΨΒ
.

Τηισ ιµπλιεσ �Β (εψ(�); ξ0) � �Β (εψ(�); ξ) ωηιχη ισ α χοντραδιχτιον.

3. �Β (εψ(�); ξ) (ωεακλψ) ινχρεασεσ ιν ξ 8 θ 2 (0; 1).
Ασ ιν ανψ ΣΡΕ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ αρε χορρεχτ, ε.γ. ψ(ξ) = εψ(ξ) φορ

αλλ ξ 2 φ0; 5; 10; 15; 20γ, ανδ ουρ σεχονδ προπερτψ ηολδσ, αγεντ Β βελιεϖεσ τηατ αγεντ

Α ιντενδσ το ασσιγν ηιµ (ωεακλψ) µορε εξπεχτεδ µατεριαλ παψο⁄ τηε ηιγηερ ξ. Ασ

ρεφ�Β (εψ(�)) ισ τηε σαµε φορ ανψ ξ 2 φ0; 5; 10; 15; 20γ, �Β (εψ(�); ξ) (ωεακλψ) ινχρεασεσ
ιν ξ.

4. Τηε ηιγηερ θ τηε (ωεακλψ) σµαλλερ ψ(ξ) 8 θ 2 (0; 1) ανδ ξ = 20.

Συπποσε νοτ. Τηεν, τηερε εξιστ θ0; θ 2 (0; 1) ωιτη θ0 > θ ανδ αν ΣΡΕ φορ θ0 ωιτη

ψ(20)θ0 ανδ αν ΣΡΕ φορ θ ωιτη ψ(20)θ συχη τηατ ψ(20)θ0 > ψ(20)θ. Ασ ιν ανψ ΣΡΕ

ινιτιαλ βελιεφσ αβουτ στρατεγιεσ αρε χορρεχτ, αγεντ Β βελιεϖεσ τηατ αγεντ Α ιντενδσ το

ασσιγν ηιµ µορε εξπεχτεδ παψο⁄ ωιτη ξ = 20 ωηεν τηε προβαβιλιτψ τηατ τηε γαµε
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ισ νοτ στοππεδ ισ θ ρατηερ τηαν θ0 βεχαυσε 3 � 20� ψ(20)θ � θ > 3 � 20� ψ(20)θ0 � θ
0.

ρεφ�Β (εψ(�)) µαψ βε δι⁄ερεντ φορ θ0 ανδ θ. ∆υε το ουρ σεχονδ προπερτψ ανδ χορρεχτ
ινιτιαλ βελιεφσ αβουτ στρατεγιεσ, ωε χαν σιµπλψ χαλχυλατε ρεφ�Β (εψ(�)) ασ τηε µεαν οφ τηε
µινιµυµ αγεντ Β βελιεϖεσ αγεντ Α βελιεϖεσ ηε (αγεντ Α) χαν ασσιγν το αγεντ Β ωιτη

ξ 2 φ0; 5; 10; 15; 20γ, ωηιχη ισ ατταινεδ ατ ξ = 0, ανδ ιτσ µαξιµυµ, ωηιχη ισ ατταινεδ

ατ ξ = 20. Ηενχε, ρεφ�Β (εψ(�)θ)θ = (3 � 20� ψ(20)θ � θ) �
1
2
ανδ ρεφ�Β (εψ(�)θ0)θ0 =

(3 � 20� ψ(20)θ0 � θ
0) � 1

2
. Ασ α χονσεθυενχε, αγεντ Β περχειϖεσ ξ = 20 ασ κινδερ ιν

τηε ΣΡΕ ωιτη θ τηαν ιν τηε ονε ωιτη θ0, ι.ε. �Β (εψ(�)θ; 20)θ > �Β (εψ(�)θ0 ; 20)θ0 .20 Τηισ
ισ βεχαυσε (3 � 20� ψ(20)θ � θ)�

1
2
> (3 � 20� ψ(20)θ0 � θ

0)� 1
2
. Νεϖερτηελεσσ, αγεντ Β

ρετυρνσ µορε ιν τηε ΣΡΕ ωιτη θ0 τηαν ιν τηε ονε ωιτη θ. Φροµ ρεϖεαλεδ πρεφερενχεσ

ιτ µυστ βε τηε χασε τηατ:

ΥΒ (ψ(20)θ0 ; 20; εψ(�)θ0)θ0 � ΥΒ (ψ(20)θ; 20; εψ(�)θ0)θ0

ανδ

ΥΒ (ψ(20)θ; 20; εψ(�)θ)θ � ΥΒ (ψ(20)θ0 ; 20; εψ(�)θ)θ

βεχαυσε ψ(20)θ ανδ ψ(20)θ0 αρε βοτη αϖαιλαβλε γιϖεν ξ = 20. Τηε τωο ινεθυαλιτιεσ

χαν βε ωριττεν ασ

3 � 20� ψ(20)θ0 + ΨΒ �
�
ψ(20)θ0 �

3
2
� 20

�
� �Β (εψ(�)θ0 ; 20)θ0 �

3 � 20� ψ(20)θ + ΨΒ �
�
ψ(20)θ �

3
2
� 20

�
� �Β (εψ(�)θ0 ; 20)θ0

ανδ

3 � 20� ψ(20)θ + ΨΒ �
�
ψ(20)θ �

3
2
� 20

�
� �Β (εψ(�)θ; 20)θ �

3 � 20� ψ(20)θ0 + ΨΒ �
�
ψ(20)θ0 �

3
2
� 20

�
� �Β (εψ(�)θ; 20)θ

ωηιχη χαν βε ρεωριττεν ασ

�Β (εψ(�)θ0 ; 20)θ0 � 1
ΨΒ
ανδ �Β (εψ(�)θ; 20)θ � 1

ΨΒ
.

Τηισ ιµπλιεσ �Β (εψ(�)θ0 ; 20)θ0 � �Β (εψ(�)θ; 20)θ ωηιχη ισ α χοντραδιχτιον.

5. Ιφ ψ(20)θ = ψ(20)θ0 φορ θ
0; θ 2 (0; 1) ωιτη θ0 > θ, τηεν ειτηερ ψ(20)θ =

ψ(20)θ0 = 60 ορ ψ(20)θ = ψ(20)θ0 = 0.

Συπποσε νοτ. Τηεν, τηερε εξιστ θ0; θ 2 (0; 1) ωιτη θ0 > θ ανδ αν ΣΡΕ φορ θ0 ωιτη

ψ(20)θ0 ανδ αν ΣΡΕ φορ θ ωιτη ψ(20)θ συχη τηατ 0 < ψ(20)θ0 = ψ(20)θ < 60. Ασ ιν ανψ

20Τηισ µαψ νοτ βε τηε χασε φορ ξ < 20.
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ΣΡΕ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ αρε χορρεχτ, αγεντ Β βελιεϖεσ τηατ αγεντ Α ιντενδσ

το ασσιγν ηιµ µορε εξπεχτεδ παψο⁄ ωιτη ξ = 20 ωηεν τηε προβαβιλιτψ τηατ τηε γαµε

ισ νοτ στοππεδ ισ θ ρατηερ τηαν θ0 βεχαυσε 3 � 20 � ψ(20)θ � θ > 3 � 20 � ψ(20)θ0 � θ
0

(ωιτη ψ(20)θ0 = ψ(20)θ > 0). ∆υε το ουρ σεχονδ προπερτψ ανδ χορρεχτ ινιτιαλ βελιεφσ

αβουτ στρατεγιεσ, ωε χαν σιµπλψ χαλχυλατε ρεφ�Β (εψ(�)θ)θ = (3 � 20� ψ(20)θ � θ) �
1
2

ανδ ρεφ�Β (εψ(�)θ0)θ0 = (3 � 20� ψ(20)θ0 � θ0)� 12 . Ασ α χονσεθυενχε, αγεντ Β περχειϖεσ
ξ = 20 ασ κινδερ ιν τηε ΣΡΕ ωιτη θ τηαν ιν τηε ονε ωιτη θ0, ι.ε. �Β (εψ(�)θ; 20)θ >
�Β (εψ(�)θ0 ; 20)θ0 .21 Νεϖερτηελεσσ, αγεντ Β ρετυρνσ τηε σαµε ιν τηε ΣΡΕ ωιτη θ0 ασ ιν

τηε ονε ωιτη θ. Φροµ ρεϖεαλεδ πρεφερενχεσ ιτ µυστ βε τηε χασε τηατ:

ΥΒ (ψ(20)θ0 ; 20; εψ(�)θ0)θ0 � ΥΒ (0; 20; εψ(�)θ0)θ0

ανδ

ΥΒ (ψ(20)θ; 20; εψ(�)θ)θ � ΥΒ (60; 20; εψ(�)θ)θ

βεχαυσε 0 ανδ 60 αρε αϖαιλαβλε γιϖεν ξ = 20. Τηε τωο ινεθυαλιτιεσ χαν βε ωριττεν ασ

3 � 20� ψ(20)θ0 + ΨΒ �
�
ψ(20)θ0 �

3
2
� 20

�
� �Β (εψ(�)θ0 ; 20)θ0 �

3 � 20� 0 + ΨΒ �
�
0� 3

2
� 20

�
� �Β (εψ(�)θ0 ; 20)θ0

ανδ

3 � 20� ψ(20)θ + ΨΒ �
�
ψ(20)θ �

3
2
� 20

�
� �Β (εψ(�)θ; 20)θ �

3 � 20� 60 + ΨΒ �
�
60� 3

2
� 20

�
� �Β (εψ(�)θ; 20)θ

ωηιχη χαν βε ρεωριττεν ασ

�Β (εψ(�)θ0 ; 20)θ0 � 1
ΨΒ
ανδ �Β (εψ(�)θ; 20)θ � 1

ΨΒ
.

Τηισ ιµπλιεσ �Β (εψ(�)θ0 ; 20)θ0 � �Β (εψ(�)θ; 20)θ ωηιχη ισ α χοντραδιχτιον.

6. �Β (εψ(�); 20) ισ (ωεακλψ) λαργερ ωηεν θ = 0:5 τηαν ωηεν θ = 0:8.
Συπποσε νοτ. Τηεν, τηερε εξιστ αν ΣΡΕ φορ θ = 0:5 ωιτη ψ(20)0:5 ανδ αν ΣΡΕ

φορ θ = 0:8 ωιτη ψ(20)0:8 συχη τηατ �Β (εψ(�)0:5; 20)0:5 < �Β (εψ(�)0:8; 20)0:8. ∆υε το
ουρ σεχονδ προπερτψ ανδ χορρεχτ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ, τηισ ιµπλιεσ τηατ

(60� 0:5 � ψ(20)0:5) �
1
2
< (60� 0:8 � ψ(20)0:8) �

1
2
ανδ, τηερεφορε, ψ(20)0:5 > ψ(20)0:8.

Φροµ ρεϖεαλεδ πρεφερενχεσ ιτ µυστ βε τηε χασε τηατ:

21Τηισ µαψ νοτ βε τηε χασε φορ ξ < 20.
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ΥΒ (ψ(20)0:5; 20; εψ(�)0:5)0:5 � ΥΒ (ψ(20)0:8; 20; εψ(�)0:5)0:5

ανδ

ΥΒ (ψ(20)0:8; 20; εψ(�)0:8)0:8 � ΥΒ (ψ(20)0:5; 20; εψ(�)0:8)0:8

βεχαυσε ψ(20)0:5 ανδ ψ(20)0:8 αρε αϖαιλαβλε γιϖεν ξ = 20. Τηε τωο ινεθυαλιτιεσ χαν

βε ωριττεν ασ

3 � 20� ψ(20)0:5 + ΨΒ �
�
ψ(20)0:5 �

3
2
� 20

�
� �Β (εψ(�)0:5; 20)0:5 �

3 � 20� ψ(20)0:8 + ΨΒ �
�
ψ(20)0:8 �

3
2
� 20

�
� �Β (εψ(�)0:5; 20)0:5

ανδ

3 � 20� ψ(20)0:8 + ΨΒ �
�
ψ(20)0:8 �

3
2
� 20

�
� �Β (εψ(�)0:8; 20)0:8 �

3 � 20� ψ(20)0:5 + ΨΒ �
�
ψ(20)0:5 �

3
2
� 20

�
� �Β (εψ(�)0:8; 20)0:8

ωηιχη χαν βε ρεωριττεν ασ

�Β (εψ(�)0:5; 20)0:5 � 1
ΨΒ
ανδ �Β (εψ(�)0:8; 20)0:8 � 1

ΨΒ
.

Τηισ ιµπλιεσ �Β (εψ(�)0:5; 20)0:5 � �Β (εψ(�)0:8; 20)0:8 ωηιχη ισ α χοντραδιχτιον.

7. Αγεντ Α�σ εξπεχτεδ ρετυρν φροµ ξ = 20, θ � ψ(20), ισ (ωεακλψ) σµαλλερ

ωηεν θ = 0:5 τηαν ωηεν θ = 0:8.

Ουρ σιξτη προπερτψ στατεσ �Β (εψ(�)0:5; 20)0:5 � �Β (εψ(�)0:8; 20)0:8. ∆υε το ουρ σεχ−
ονδ προπερτψ ανδ χορρεχτ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ, τηισ ιµπλιεσ

(60� 0:5 � ψ(20)0:5)�
1
2
� (60� 0:8 � ψ(20)0:8)�

1
2
ωηιχη ισ εθυιϖαλεντ το 0:8�ψ(20)0:8 �

0:5 � ψ(20)0:5.

6.2.5 Εξιστενχε οφ αν ΣΡΕ

Σο φαρ, ωε ηαϖε δεϖελοπεδ α χουπλε οφ στατεµεντσ τηατ ηολδ ιν ανψ ΣΡΕ ιν ωηιχη

αγεντ Β χηοοσεσ α πυρε στρατεγψ ψ(ξ) 2 [0; 3 � ξ] φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ. Ιν τηε

φολλοωινγ ωε σηοω τηατ ατ λεαστ ονε συχη ΣΡΕ εξιστσ φορ εαχη οφ ουρ τρεατµεντσ.

Λεµµα 1: 8 ξ 2 φ0; 5; 10; 15; 20γ ανδ θ 2 (0; 1) τηερε εξιστσ αν οπτιµαλ πυρε

αχτιον φορ αγεντ Β, ψ(ξ) 2 [0; 3 � ξ], συχη τηατ αγεντ Β�σ ινιτιαλ βελιεφσ αβουτ

αγεντ Α�σ βελιεφσ αβουτ αγεντ Β�σ αχτιονσ αρε αλλ χορρεχτ, ι.ε. ψ(ξ) = εψ(ξ)
φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ.
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Τακε αν ξ 2 φ0; 5; 10; 15γ, α εψ(20) 2 [0; 60], ανδ τηε φαχτ τηατ ρεφ�Β (εψ(�)) =
60�θ�εψ(20)+0

2
(ασ ιτ ισ τηε χασε ιν αλλ ΣΡΕ ιν ωηιχη αγεντ Β χηοοσεσ α πυρε στρατεγψ

δυε το ουρ σεχονδ προπερτψ). Τηεν, αγεντ Β�σ υτιλιτψ φυνχτιον ισ ΥΒ (ψ(ξ); ξ; εψ(�)) =
3�ξ�ψ(ξ)+ΨΒ�

�
ψ(ξ)� 3�ξ

2

�
�
�
3 � ξ� θ � εψ(ξ)� 60�θ�εψ(20)+0

2

�
. Ασ ΥΒ (ψ(ξ); ξ; εψ(�))

δοεσ νοτ δεπενδ ον εψ(ξ0) ωιτη ξ0 2 φ0; 5; 10; 15γ νξ ανδ ξ ανδ εψ(20) αρε �ξεδ,
ωε ρεωριτε αγεντ Β�σ υτιλιτψ φυνχτιον ασ ΥΒ (ψ(ξ); εψ(ξ)). ΥΒ (ψ(ξ); εψ(ξ)) ισ χοντιν−
υουσ ιν ψ(ξ) ανδ εψ(ξ), ανδ ΥΒ (�; εψ(ξ)) ισ θυασι−χονχαϖε ιν εψ(ξ). Βψ χηοοσινγ α
ψ(ξ) 2 Γ (εψ(ξ)) = [0; 3 � ξ] αγεντ Β χαν µαξιµιζε ηισ υτιλιτψ. Τηε χορρεσπον−

δενχε Γ (εψ(ξ)) ισ χονσταντ ανδ χοντινυουσ ιν εψ(ξ). Φυρτηερµορε, φορ ανψ εψ(ξ)
Γ (εψ(ξ)) ισ νον−εµπτψ, χοµπαχτ, ανδ χονϖεξ−ϖαλυεδ. Χονσεθυεντλψ, ωε χαν απ−

πλψ Βεργε�σ Μαξιµυµ Τηεορεµ ανδ χονχλυδε τηατ φορ ανψ εψ(ξ) 2 [0; 3 � ξ] τηερε
εξιστσ ατ λεαστ ονε ψ(ξ) 2 [0; 3 � ξ] τηατ µαξιµιζεσ ΥΒ(ψ(ξ); εψ(ξ)) ανδ τηε χορρε−
σπονδενχε Ψ �(εψ(ξ)) : [0; 3 � ξ] ! [0; 3 � ξ] τηατ µαπσ εψ(ξ) 2 [0; 3 � ξ] ιντο τηε σετ
οφ ψ(ξ) 2 [0; 3 � ξ] ωηιχη µαξιµιζε ΥΒ(ψ(ξ); εψ(ξ)) ισ νον−εµπτψ, χοµπαχτ−ϖαλυεδ,
υππερ−ηεµιχοντινυουσ, ανδ χονϖεξ−ϖαλυεδ. Ιτ ρεµαινσ το σηοω τηατ Ψ �(εψ(ξ)) ηασ
α �ξεδ ποιντ εψ(ξ) 2 Ψ �(εψ(ξ)), ι.ε. αγεντ Β�σ ινιτιαλ βελιεφσ αβουτ αγεντ Α�σ βε−
λιεφσ αβουτ αγεντ Β�σ αχτιονσ φορ ξ αρε χορρεχτ. Ωε αππλψ Κακυτανι�σ Φιξεδ Ποιντ

Τηεορεµ ανδ χονχλυδε τηατ ατ λεαστ ονε �ξεδ ποιντ εξιστσ.

Νοω, τακε ξ = 20, ανδ τηε φαχτ τηατ ρεφ�Β (εψ(�)) =
60�θ�εψ(20)+0

2
. Τηεν, αγεντ

Β�σ υτιλιτψ φυνχτιον ισ ΥΒ (ψ(20); 20; εψ(�)) = 3 � 20 � ψ(20) + ΨΒ �
�
ψ(20)� 3�20

2

�
��

3 � 20� θ � εψ(20)� 60�θ�εψ(20)+0
2

�
. Ασ ΥΒ (ψ(20); 20; εψ(�)) δοεσ νοτ δεπενδ ον

εψ(ξ0) ωιτη ξ0 2 φ0; 5; 10; 15γ ανδ ξ ισ �ξεδ ατ 20, ωε ρεωριτε αγεντ Β�σ υτιλιτψ

φυνχτιον ασ ΥΒ (ψ(20); εψ(20)). Αγαιν, ΥΒ (ψ(20); εψ(20)) ισ χοντινυουσ ιν ψ(20) ανδ
εψ(20), ΥΒ(�; εψ(20)) ισ θυασι−χονχαϖε, ανδ [0; 60], τηε ατταιναβλε σετ οφ πυρε αχτιονσ,
ισ χοντινυουσ ιν εψ(20), νον−εµπτψ, χοµπαχτ, ανδ χονϖεξ−ϖαλυεδ. Ασ αβοϖε, ωε χαν
χονχλυδε τηατ φορ ανψ εψ(20) 2 [0; 60] τηερε εξιστσ ατ λεαστ ονε ψ(20) 2 [0; 60] τηατ
µαξιµιζεσ ΥΒ(ψ(20); εψ(20)) ανδ τηατ τηερε εξιστ ατ λεαστ ονε εψ(20) τηατ ισ χορρεχτ.
Φροµ ουρ σεχονδ προπερτψ ωε κνοω τηατ ιφ (ι) αγεντ Β ηασ σοµε ρεφ�Β (εψ(�)),

ωηιχη ισ τηε σαµε υνδερ αλλ ξ 2 φ0; 5; 10; 15; 20γ, ανδ (ιι) ηισ ινιτιαλ βελιεφσ αρε

χορρεχτ, ε.γ. ψ(ξ) = εψ(ξ) φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ, ανδ (ιιι) ηε βεηαϖεσ ρατιοναλ
ιν τηε σενσε τηατ ηε χηοοσεσ αν αχτιον ωηεν ιτσ δεριϖεδ υτιλιτψ ισ (ωεακλψ) ηιγηεστ,

τηεν 3 � ξ� εψ(ξ) � θ ινχρεασεσ ιν ξ ανδ ρεφ�Β (εψ(�)) =
60�θ�εψ(20)+0

2
.

Προποσιτιον 1: Φορ ανψ θ 2 (0; 1) τηερε εξιστσ αν ΣΡΕ, ιν ωηιχη αγεντ Β

χηοοσεσ α πυρε στρατεγψ.

∆υε το Λεµµα 1, ιτ ρεµαινσ το σηοω τηατ γιϖεν αγεντ Β�σ πυρε οπτιµαλ στρατεγψ
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αγεντ Α ηασ αν οπτιµαλ (ποσσιβλψ ρανδοµιζεδ) στρατεγψ α τηατ ισ χορρεχτλψ εξπεχτεδ

βψ ινιτιαλ βελιεφσ, ι.ε. α = εα ωιτη εα ασ αγεντ Α�σ ινιτιαλ σεχονδ ορδερ βελιεφ ον α.
Τακε ανψ οπτιµαλ πυρε στρατεγψ οφ αγεντ Β ψ(ξ) φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ ωηιχη

ισ χορρεχτλψ εξπεχτεδ βψ αγεντ Α. Τηεν, αγεντ Α�σ υτιλιτψ φυνχτιον ισ ΥΑ (α; ψ(�);εα) =
�Α (α; ψ(�))+ΨΑ��Α (α; ψ(�))��Α (ψ(�);εα). Λετ υσ δε�νε Ε (ξ) ανδ εΕ (ξ) ασ τηε µεαν
οφ ξ ρεσυλτινγ ωιτη στρατεγψ α ανδ εα, ρεσπεχτιϖελψ, ανδ Ε (ψ (ξ)) ανδ εΕ (ψ (ξ)) ασ τηε
µεαν οφ ψ (ξ) ρεσυλτινγ ωιτη στρατεγψ α ανδ εα, ρεσπεχτιϖελψ. Τηεν, �Α (α; ψ(�)) =
20 � Ε (ξ) � θ � Ε (ψ (ξ)), �Α (α; ψ(�)) = 3 � Ε (ξ) � θ � Ε (ψ (ξ)) � 0+3�20�θ�ψ(20)

2
,

ανδ �Α (ψ(�);εα) = 20 � εΕ (ξ) + θ � εΕ (ψ (ξ)) � 20� εΕ(ξ)+θ�0+20� εΕ(ξ)+θ�3� εΕ(ξ)
2

. Ηενχε,

ΥΑ (α; ψ(�);εα) = 20�Ε (ξ)�θ�Ε (ψ (ξ))+ΨΑ�
�
3 � Ε (ξ)� θ � Ε (ψ (ξ))� 3�20�θ�ψ(20)

2

�

�
�
θ � εΕ (ψ (ξ))� θ�3� εΕ(ξ)

2

�
. Ασ ψ(�) ισ �ξεδ, ωε χαν ρεωριτε αγεντ Α�σ υτιλιτψ φυνχ−

τιον ασ ΥΑ (α;εα). ΥΑ (α;εα) ισ χοντινυουσ ιν α ανδ εα, ΥΑ (�;εα) ισ θυασι−χονχαϖε, ανδ
αγεντ Α�σ σετ οφ ποσσιβλψ ρανδοµιζεδ στρατεγιεσ Ξ ισ χοντινυουσ ιν εα, νον−εµπτψ,
χοµπαχτ ανδ χονϖεξ−ϖαλυεδ. Ηενχε, ωε χαν αππλψ Βεργε�σ Μαξιµυµ Τηεορεµ ανδ

χονχλυδε τηατ φορ ανψ εα τηερε εξιστσ α σετ οφ στρατεγιεσ Ξ� (εα) ουτ οφ ωηιχη εαχη
στρατεγψ ισ παρτ οφ τηε σετ Ξ ανδ µαξιµιζεσ αγεντ Α�σ υτιλιτψ γιϖεν εα. Φυρτηερµορε,
Ξ� (εα) : Ξ ! Ξ ισ α νον−εµπτψ, χοµπαχτ, χονϖεξ−ϖαλυεδ, ανδ υππερ−ηεµιχοντινυουσ

χορρεσπονδενχε. Χονσεθυεντλψ, ωε χαν αππλψ Κακυτανι�σ Φιξεδ Ποιντ Τηεορεµ ανδ

χονχλυδε τηατ Ξ� (εα) ηασ ατ λεαστ ονε �ξεδ ποιντ.

6.3 Βεηαϖιοραλ πρεδιχτιονσ οφ τηε ΦΦ−σπεχι�χατιον

6.3.1 Ουρ σπεχι�χατιον

Ωε χονσιδερ τηε σαµε µοδελ ασ φορ τηε ∆Κ−σπεχι�χατιον βυτ δε�νε �ι ανδ �ι δι⁄ερ−

εντλψ. Τηε ιντερπρετατιον οφ τηεσε τερµσ, τηουγη, ρεµαινσ τηε σαµε. Τηε ρεφερενχε

παψο⁄ υσεδ φορ �ι ισ εθυαλ το ινδιϖιδυαλ ι�σ εξπεχτατιον οφ ηισ οων µατεριαλ παψο⁄, �ι,

ωηιλε τηε ρεφερενχε παψο⁄ υσεδ φορ �ι ισ εθυαλ το ινδιϖιδυαλ ι�σ βελιεφ αβουτ ινδιϖιδυαλ

ϕ�σ εξπεχτατιον οφ ινδιϖιδυαλ ϕ�σ µατεριαλ παψο⁄. Εϖερψτηινγ ελσε ρεµαινσ τηε σαµε.

6.3.2 Αγεντ Β�σ υτιλιτψ φυνχτιον ωηεν ηε ισ ασκεδ το δεχιδε

Ιν χοµπαρισον το αγεντ Β�σ χορρεσπονδινγ υτιλιτψ φυνχτιον ιν τηε ∆Κ−σπεχι�χατιον,

�Β (ψ(ξ); ξ) ανδ �Β (εψ(ξ); ξ) χηανγε. Νοω,

�Β (ψ(ξ); ξ) = 20� ξ+ ψ (ξ)� (3 � ξ� ψ (ξ))

ανδ
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�Β (εψ(ξ); ξ) = 3 � ξ� θ � εψ(ξ)� (20� ξ+ θ � εψ(ξ)).

Ηενχε, αγεντ Β�σ υτιλιτψ φυνχτιον ισ τηε φολλοωινγ

ΥΒ (ψ(ξ); ξ; εψ(ξ)) =
3 � ξ� ψ(ξ) + ΨΒ � (20� 4 � ξ+ 2 � ψ (ξ)) � (4 � ξ� 2 � θ � εψ(ξ)� 20).

6.3.3 Εθυιλιβριυµ πρεδιχτιονσ

Ιν τηισ συβσεχτιον ωε δεριϖε σοµε στατεµεντσ τηατ ηολδ ιν ανψ ΣΡΕ ιν ωηιχη αγεντ

Β χηοοσεσ α πυρε στρατεγψ ψ(ξ) 2 [0; 3 � ξ] φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ.

1. ψ(ξ) (ωεακλψ) ινχρεασεσ ιν ξ 8 θ 2 (0; 1).

Συπποσε νοτ. Τηεν τηερε εξιστ ξ0; ξ 2 φ0; 5; 10; 15; 20γ ωιτη ξ0 > ξ βυτ ψ(ξ0) <

ψ(ξ). Ασ ιν ανψ ΣΡΕ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ αρε χορρεχτ, ε.γ. ψ(ξ) = εψ(ξ)
ανδ ψ(ξ0) = εψ(ξ0), �Β (εψ(ξ0); ξ0) > �Β (εψ(ξ); ξ) σινχε 4 � ξ0 � 2 � θ � ψ(ξ0) � 20 >
4 � ξ� 2 � θ � ψ(ξ)� 20. Νεϖερτηελεσσ, αγεντ Β ρετυρνσ λεσσ ωηεν ηε ρεχειϖεσ 3 � ξ0

τηαν ωηεν ηε ρεχειϖεσ 3 � ξ. Φροµ ρεϖεαλεδ πρεφερενχεσ ιτ µυστ βε τηε χασε τηατ:

ΥΒ (ψ(ξ
0); ξ0; εψ(ξ0)) � ΥΒ (ψ(ξ); ξ0; εψ(ξ0))

ανδ

ΥΒ (ψ(ξ); ξ; εψ(ξ)) � ΥΒ (ψ(ξ0); ξ; εψ(ξ))

βεχαυσε ψ(ξ) ισ αϖαιλαβλε γιϖεν ξ0 (σινχε ψ(ξ) � 3 � ξ < 3 � ξ0), ανδ ψ(ξ0) ισ αϖαιλαβλε

γιϖεν ξ (σινχε ψ(ξ0) < ψ(ξ) � 3 � ξ). Τηε τωο ινεθυαλιτιεσ χαν βε ωριττεν ασ

3 � ξ0 � ψ(ξ0) + ΨΒ � (20� 4 � ξ
0 + 2 � ψ (ξ0)) � �Β (εψ(ξ0); ξ0) �

3 � ξ0 � ψ(ξ) + ΨΒ � (20� 4 � ξ
0 + 2 � ψ (ξ)) � �Β (εψ(ξ0); ξ0)

ανδ

3 � ξ� ψ(ξ) + ΨΒ � (20� 4 � ξ+ 2 � ψ (ξ)) � �Β (εψ(ξ); ξ) �
3 � ξ� ψ(ξ0) + ΨΒ � (20� 4 � ξ+ 2 � ψ (ξ

0)) � �Β (εψ(ξ); ξ)

ωηιχη χαν βε ρεωριττεν ασ

1
2�ΨΒ

� �Β (εψ(ξ0); ξ0) ανδ 1
2�ΨΒ

� �Β (εψ(ξ); ξ).
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Τηισ ιµπλιεσ �Β (εψ(ξ); ξ) � �Β (εψ(ξ0); ξ0) ωηιχη ισ α χοντραδιχτιον.

2. �Β (εψ(ξ); ξ) (ωεακλψ) ινχρεασεσ ιν ξ 8 θ 2 φ0:5; 0:8γ.
Συπποσε νοτ. Τηεν, τηερε εξιστ ξ0; ξ 2 φ0; 5; 10; 15; 20γ ωιτη ξ0 > ξ βυτ

�Β (εψ(ξ0); ξ0) < �Β (εψ(ξ); ξ). Ασ ιν ανψ ΣΡΕ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ αρε

χορρεχτ, ε.γ. ψ(ξ) = εψ(ξ) ανδ ψ(ξ0) = εψ(ξ0), τηισ ιµπλιεσ 4 � ξ0 � 2 � θ � ψ(ξ0)� 20 <
4 � ξ � 2 � θ � ψ(ξ) � 20 ωηιχη ισ εθυιϖαλεντ το 4 � (ξ0 � ξ) < 2 � θ � (ψ(ξ0)� ψ(ξ))

ανδ ιµπλιεσ ψ(ξ0) > ψ(ξ). Φυρτηερµορε, φορ θ 2 φ0:5; 0:8γ ψ(ξ) < 3 � ξ ιν ΣΡΕ. Ιφ

νοτ ανδ ψ(ξ) = εψ(ξ) = 3 � ξ, �Β (εψ(ξ); ξ) = 4 � ξ� 2 � 3 � ξ � θ � 20, ωηιχη ισ εθυαλ
ορ σµαλλερ τηαν 0 φορ θ 2 φ0:5; 0:8γ. Γιϖεν �Β (εψ(ξ); ξ) � 0, αγεντ Β πρεφερρεδ το

ρετυρν νοτηινγ ινστεαδ οφ ψ(ξ) = 3 � ξ.

Φροµ ρεϖεαλεδ πρεφερενχεσ ιτ µυστ βε τηε χασε τηατ:

ΥΒ (ψ(ξ
0); ξ0; εψ(ξ0)) � ΥΒ (ψ(ξ); ξ0; εψ(ξ0))

ανδ

ΥΒ (ψ(ξ); ξ; εψ(ξ)) � ΥΒ (3 � ξ; ξ; εψ(ξ))

βεχαυσε ψ(ξ) ισ αϖαιλαβλε γιϖεν ξ0 (σινχε ψ(ξ) < 3 � ξ < 3 � ξ0), ανδ 3 � ξ ισ αϖαιλαβλε

γιϖεν ξ. Τηε τωο ινεθυαλιτιεσ χαν βε ωριττεν ασ

3 � ξ0 � ψ(ξ0) + ΨΒ � (20� 4 � ξ
0 + 2 � ψ (ξ0)) � �Β (εψ(ξ0); ξ0) �

3 � ξ0 � ψ(ξ) + ΨΒ � (20� 4 � ξ
0 + 2 � ψ (ξ)) � �Β (εψ(ξ0); ξ0)

ανδ

3 � ξ� ψ(ξ) + ΨΒ � (20� 4 � ξ+ 2 � ψ (ξ)) � �Β (εψ(ξ); ξ) �
3 � ξ� 3 � ξ+ ΨΒ � (20� 4 � ξ+ 2 � 3 � ξ) � �Β (εψ(ξ); ξ).

Ασ ψ(ξ0) > ψ(ξ) ανδ ψ(ξ) < 3 � ξ, τηε τωο ινεθυαλιτιεσ χαν βε ρεωριττεν ασ

�Β (εψ(ξ0); ξ0) � 1
2�ΨΒ

ανδ �Β (εψ(ξ); ξ) � 1
2�ΨΒ

.

Τηισ ιµπλιεσ �Β (εψ(ξ0); ξ0) � �Β (εψ(ξ); ξ) ωηιχη ισ α χοντραδιχτιον.

3. Τηε ηιγηερ θ τηε (ωεακλψ) σµαλλερ ψ(ξ) 8 θ 2 (0; 1) ανδ ξ 2 φ0; 5; 10; 15; 20γ.

Συπποσε νοτ. Τηεν, τηερε εξιστ θ0; θ 2 (0; 1) ωιτη θ0 > θ ανδ αν ΣΡΕ φορ θ0

ωιτη ψ(ξ)θ0 ανδ αν ΣΡΕ φορ θ ωιτη ψ(ξ)θ συχη τηατ ψ(ξ)θ0 > ψ(ξ)θ. Ασ ιν ανψ ΣΡΕ

ινιτιαλ βελιεφσ αβουτ στρατεγιεσ αρε χορρεχτ, ε.γ. ψ(ξ)θ0 = εψ(ξ)θ0 ανδ ψ(ξ)θ = εψ(ξ)θ,
�Β (εψ(ξ)θ; ξ)θ > �Β (εψ(ξ)θ0 ; ξ)θ0 σινχε 4�ξ�2�θ�ψ(ξ)θ�20 > 4�ξ�2�θ0�ψ(ξ)θ0�20.
Νεϖερτηελεσσ, αγεντ Β ρετυρνσ µορε ιν τηε ΣΡΕ ωιτη θ0 τηαν ιν τηε ονε ωιτη θ φορ

ξ. Φροµ ρεϖεαλεδ πρεφερενχεσ ιτ µυστ βε τηε χασε τηατ:
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ΥΒ (ψ(ξ)θ0 ; ξ; εψ(ξ)θ0)θ0 � ΥΒ (ψ(ξ)θ; ξ; εψ(ξ)θ0)θ0

ανδ

ΥΒ (ψ(ξ)θ; ξ; εψ(ξ)θ)θ � ΥΒ (ψ(ξ)θ0 ; ξ; εψ(ξ)θ)θ

βεχαυσε ψ(ξ)θ ανδ ψ(ξ)θ0 αρε βοτη αϖαιλαβλε γιϖεν ξ. Τηε τωο ινεθυαλιτιεσ χαν βε

ωριττεν ασ

3 � ξ� ψ(ξ)θ0 + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)θ0) � �Β (εψ(ξ)θ0 ; ξ)θ0 �
3 � ξ� ψ(ξ)θ + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)θ) � �Β (εψ(ξ)θ0 ; ξ)θ0

ανδ

3 � ξ� ψ(ξ)θ + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)θ) � �Β (εψ(ξ)θ; ξ)θ �
3 � ξ� ψ(ξ)θ0 + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)θ0) � �Β (εψ(ξ)θ; ξ)θ

ωηιχη χαν βε ρεωριττεν ασ

�Β (εψ(ξ)θ0 ; ξ)θ0 � 1
2�ΨΒ

ανδ �Β (εψ(ξ)θ; ξ)θ � 1
2�ΨΒ

.

Τηισ ιµπλιεσ �Β (εψ(ξ)θ0 ; ξ)θ0 � �Β (εψ(ξ)θ; ξ)θ ωηιχη ισ α χοντραδιχτιον.

4. Φορ ξ 2 φ5; 10; 15; 20γ ιτ ηολδσ τηατ ιφ ψ(ξ)θ = ψ(ξ)θ0 φορ θ
0; θ 2 (0; 1) ωιτη

θ0 > θ, τηεν ειτηερ ψ(ξ)θ = ψ(ξ)θ0 = 3 � ξ ορ ψ(ξ)θ = ψ(ξ)θ0 = 0.

Συπποσε νοτ. Τηεν, τηερε εξιστ θ0; θ 2 (0; 1) ωιτη θ0 > θ ανδ αν ΣΡΕ φορ θ0 ωιτη

ψ(ξ)θ0 ανδ αν ΣΡΕ φορ θ ωιτη ψ(ξ)θ συχη τηατ 0 < ψ(ξ)θ0 = ψ(ξ)θ < 3 � ξ. Ασ ιν

ανψ ΣΡΕ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ αρε χορρεχτ, �Β (εψ(ξ)θ; ξ)θ > �Β (εψ(ξ)θ0 ; ξ)θ0
σινχε 4 � ξ � 2 � θ � ψ(ξ)θ � 20 > 4 � ξ � 2 � θ

0 � ψ(ξ)θ0 � 20. Νεϖερτηελεσσ, αγεντ Β

ρετυρνσ τηε σαµε ιν τηε ΣΡΕ ωιτη θ0 ασ ιν τηε ονε ωιτη θ. Φροµ ρεϖεαλεδ πρεφερενχεσ

ιτ µυστ βε τηε χασε τηατ:

ΥΒ (ψ(ξ)θ0 ; ξ; εψ(ξ)θ0)θ0 � ΥΒ (0; ξ; εψ(ξ)θ0)θ0

ανδ

ΥΒ (ψ(ξ)θ; ξ; εψ(ξ)θ)θ � ΥΒ (3 � ξ; ξ; εψ(ξ)θ)θ,

βεχαυσε 0 ανδ 3 � ξ αρε αϖαιλαβλε γιϖεν ξ. Τηε τωο ινεθυαλιτιεσ χαν βε ωριττεν ασ

3 � ξ� ψ(ξ)θ0 + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)θ0) � �Β (εψ(ξ)θ0 ; ξ)θ0 �
3 � ξ� 0 + ΨΒ � (20� 4 � ξ+ 2 � 0) � �Β (εψ(ξ)θ0 ; ξ)θ0
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ανδ

3 � ξ� ψ(ξ)θ + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)θ) � �Β (εψ(ξ)θ; ξ)θ �
3 � ξ� 3 � ξ+ ΨΒ � (20� 4 � ξ+ 2 � 3 � ξ) � �Β (εψ(ξ)θ; 20)θ

ωηιχη χαν βε ρεωριττεν ασ

�Β (εψ(ξ)θ0 ; ξ)θ0 � 1
2�ΨΒ

ανδ �Β (εψ(ξ)θ; ξ)θ � 1
2�ΨΒ

.

Τηισ ιµπλιεσ �Β (εψ(ξ)θ0 ; ξ)θ0 � �Β (εψ(ξ)θ; ξ)θ ωηιχη ισ α χοντραδιχτιον.

5. �Β (εψ(ξ); ξ) ισ (ωεακλψ) λαργερ ωηεν θ = 0:5 τηαν ωηεν θ = 0:8.
Συπποσε νοτ. Τηεν, τηερε εξιστ αν ΣΡΕ φορ θ = 0:5 ωιτη ψ(ξ)0:5 ανδ αν ΣΡΕ

φορ θ = 0:8 ωιτη ψ(ξ)0:8 συχη τηατ �Β (εψ(ξ)0:5; ξ)0:5 < �Β (εψ(ξ)0:8; ξ)0:8. ∆υε το

χορρεχτ ινιτιαλ βελιεφσ αβουτ στρατεγιεσ, τηισ ιµπλιεσ τηατ 4�ξ�2�0:5�ψ(ξ)0:5�20 <

4�ξ�2�0:8�ψ(ξ)0:8�20 ανδ, τηερεφορε, ψ(ξ)0:5 > ψ(ξ)0:8. Φροµ ρεϖεαλεδ πρεφερενχεσ

ιτ µυστ βε τηε χασε τηατ:

ΥΒ (ψ(ξ)0:5; ξ; εψ(ξ)0:5)0:5 � ΥΒ (ψ(ξ)0:8; ξ; εψ(ξ)0:5)0:5

ανδ

ΥΒ (ψ(ξ)0:8; ξ; εψ(ξ)0:8)0:8 � ΥΒ (ψ(ξ)0:5; ξ; εψ(ξ)0:8)0:8,

βεχαυσε ψ(ξ)0:5 ανδ ψ(ξ)0:8 αρε αϖαιλαβλε γιϖεν ξ. Τηε τωο ινεθυαλιτιεσ χαν βε ωριττεν

ασ

3 � ξ� ψ(ξ)0:5 + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)0:5) � �Β (εψ(ξ)0:5; ξ)0:5 �
3 � ξ� ψ(ξ)0:8 + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)0:8) � �Β (εψ(ξ)0:5; ξ)0:5

ανδ

3 � ξ� ψ(ξ)0:8 + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)0:8) � �Β (εψ(ξ)0:8; ξ)0:8 �
3 � ξ� ψ(ξ)0:5 + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)0:5) � �Β (εψ(ξ)0:8; ξ)0:8

ωηιχη χαν βε ρεωριττεν ασ

�Β (εψ(ξ)0:5; ξ)0:5 � 1
2�ΨΒ

ανδ �Β (εψ(ξ)0:8; ξ)0:8 � 1
2�ΨΒ

.

Τηισ ιµπλιεσ �Β (εψ(ξ)0:5; ξ)0:5 � �Β (εψ(ξ)0:8; ξ)0:8 ωηιχη ισ α χοντραδιχτιον.

6. Αγεντ Α�σ εξπεχτεδ ρετυρν φροµ ξ, θ � ψ(ξ), ισ (ωεακλψ) σµαλλερ ωηεν

θ = 0:5 τηαν ωηεν θ = 0:8.

Ουρ �φτη προπερτψ στατεσ �Β (εψ(ξ)0:5; ξ)0:5 � �Β (εψ(ξ)0:8; ξ)0:8. ∆υε το χορρεχτ
ινιτιαλ βελιεφσ αβουτ στρατεγιεσ, τηισ ιµπλιεσ 4 � ξ� 2 � 0:5 � ψ(ξ)0:5 � 20 � 4 � ξ� 2 �

0:8 � ψ(ξ)0:8 � 20 ωηιχη ισ εθυιϖαλεντ το 0:8 � ψ(ξ)0:8 � 0:5 � ψ(ξ)0:5.
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6.3.4 Εξιστενχε οφ αν ΣΡΕ

Σο φαρ, ωε ηαϖε δεϖελοπεδ α χουπλε οφ στατεµεντσ τηατ ηολδ ιν ανψ ΣΡΕ ιν ωηιχη

αγεντ Β χηοοσεσ α πυρε στρατεγψ ψ(ξ) 2 [0; 3 � ξ] φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ. Ιν τηε

φολλοωινγ ωε σηοω τηατ ατ λεαστ ονε συχη ΣΡΕ εξιστσ φορ εαχη οφ ουρ τρεατµεντσ.

Λεµµα 1�: 8 ξ 2 φ0; 5; 10; 15; 20γ ανδ θ 2 (0; 1) τηερε εξιστσ αν οπτιµαλ

πυρε αχτιον φορ αγεντ Β, ψ(ξ) 2 [0; 3 � ξ], συχη τηατ αγεντ Β�σ ινιτιαλ βελιεφσ

αβουτ αγεντ Α�σ βελιεφσ αβουτ αγεντ Β�σ αχτιονσ αρε αλλ χορρεχτ, ι.ε. ψ(ξ) =

εψ(ξ) φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ.

Τακε αν ξ 2 φ0; 5; 10; 15; 20γ. Τηεν, αγεντΒ�σ υτιλιτψ φυνχτιον ισ ΥΒ (ψ(ξ); ξ; εψ(ξ))
= 3 � ξ � ψ(ξ) + ΨΒ � (20� 4 � ξ+ 2 � ψ(ξ)) � (4 � ξ � 2 � θ � εψ(ξ) � 20). Ασ ξ ισ
�ξεδ, ωε ρεωριτε αγεντ Β�σ υτιλιτψ φυνχτιον ασ ΥΒ (ψ(ξ); εψ(ξ)). ΥΒ (ψ(ξ); εψ(ξ)) ισ
χοντινυουσ ιν ψ(ξ) ανδ εψ(ξ), ανδ ΥΒ (�; εψ(ξ)) ισ θυασι−χονχαϖε ιν εψ(ξ). Βψ χηοοσ−
ινγ α ψ(ξ) 2 Γ (εψ(ξ)) = [0; 3 � ξ] αγεντ Β χαν µαξιµιζε ηισ υτιλιτψ. Τηε χορ−

ρεσπονδενχε Γ (εψ(ξ)) ισ χονσταντ ανδ χοντινυουσ ιν εψ(ξ). Φυρτηερµορε, φορ ανψ

εψ(ξ) Γ (εψ(ξ)) ισ νον−εµπτψ, χοµπαχτ ανδ χονϖεξ−ϖαλυεδ. Χονσεθυεντλψ, ωε χαν απ−
πλψ Βεργε�σ Μαξιµυµ Τηεορεµ ανδ χονχλυδε τηατ φορ ανψ εψ(ξ) 2 [0; 3 � ξ] τηερε
εξιστσ ατ λεαστ ονε ψ(ξ) 2 [0; 3 � ξ] τηατ µαξιµιζεσ ΥΒ(ψ(ξ); εψ(ξ)) ανδ τηε χορρε−
σπονδενχε Ψ �(εψ(ξ)) : [0; 3 � ξ] ! [0; 3 � ξ] τηατ µαπσ εψ(ξ) 2 [0; 3 � ξ] ιντο τηε σετ
οφ ψ(ξ) 2 [0; 3 � ξ] ωηιχη µαξιµιζε ΥΒ(ψ(ξ); εψ(ξ)) ισ νον−εµπτψ, χοµπαχτ−ϖαλυεδ,
υππερ−ηεµιχοντινυουσ, ανδ χονϖεξ−ϖαλυεδ. Ιτ ρεµαινσ το σηοω τηατ Ψ �(εψ(ξ)) ηασ
α �ξεδ ποιντ εψ(ξ) 2 Ψ �(εψ(ξ)), ι.ε. αγεντ Β�σ ινιτιαλ βελιεφσ αβουτ αγεντ Α�σ βε−
λιεφσ αβουτ αγεντ Β�σ αχτιονσ φορ ξ αρε χορρεχτ. Ωε αππλψ Κακυτανι�σ Φιξεδ Ποιντ

Τηεορεµ ανδ χονχλυδε τηατ ατ λεαστ ονε �ξεδ ποιντ εξιστσ.

Προποσιτιον 1�: Φορ ανψ θ 2 (0; 1) τηερε εξιστσ αν ΣΡΕ, ιν ωηιχη αγεντ

Β χηοοσεσ α πυρε στρατεγψ.

∆υε το Λεµµα 1�, ιτ ρεµαινσ το σηοω τηατ γιϖεν αγεντ Β�σ πυρε οπτιµαλ στρατεγψ

αγεντ Α ηασ αν οπτιµαλ (ποσσιβλψ ρανδοµιζεδ) στρατεγψ α τηατ ισ χορρεχτλψ εξπεχτεδ

βψ ινιτιαλ βελιεφσ, ι.ε. α = εα ωιτη εα ασ αγεντ Α�σ ινιτιαλ σεχονδ ορδερ βελιεφ ον α.
Τακε ανψ οπτιµαλ πυρε στρατεγψ οφ αγεντ Β ψ(ξ) φορ αλλ ξ 2 φ0; 5; 10; 15; 20γ ωηιχη

ισ χορρεχτλψ εξπεχτεδ βψ αγεντ Α. Τηεν, αγεντ Α�σ υτιλιτψ φυνχτιον ισ ΥΑ (α; ψ(�);εα) =
�Α (α; ψ(�))+ΨΑ��Α (α; ψ(�))��Α (ψ(�);εα). Λετ υσ δε�νε Ε (ξ) ανδ εΕ (ξ) ασ τηε µεαν
οφ ξ ρεσυλτινγ ωιτη στρατεγψ α ανδ εα, ρεσπεχτιϖελψ, ανδ Ε (ψ (ξ)) ανδ εΕ (ψ (ξ)) ασ τηε
µεαν οφ ψ (ξ) ρεσυλτινγ ωιτη στρατεγψ α ανδ εα, ρεσπεχτιϖελψ. Τηεν, �Α (α; ψ(�)) = 20�
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Ε (ξ)�θ�Ε (ψ (ξ)), �Α (α; ψ(�)) = 3�Ε (ξ)�θ�Ε (ψ (ξ))�(20� Ε (ξ) + θ � Ε (ψ (ξ))),

ανδ �Α (ψ(�);εα) = 20 � εΕ (ξ) + θ � εΕ (ψ (ξ)) �
�
3 � εΕ (ξ)� θ � εΕ (ψ (ξ))

�
. Ηενχε,

ΥΑ (α; ψ(�);εα) = 20�Ε (ξ)� θ �Ε (ψ (ξ))+ΨΑ � (4 � Ε (ξ)� 2 � θ � Ε (ψ (ξ))� 20) ��
20� 4 � εΕ (ξ) + 2 � θ � εΕ (ψ (ξ))

�
. Ασ ψ(�) ισ �ξεδ, ωε χαν ρεωριτε αγεντ Α�σ υτιλιτψ

φυνχτιον ασ ΥΑ (α;εα). ΥΑ (α;εα) ισ χοντινυουσ ιν α ανδ εα, ΥΑ (�;εα) ισ θυασι−χονχαϖε,
ανδ αγεντ Α�σ σετ οφ ποσσιβλψ ρανδοµιζεδ στρατεγιεσ Ξ ισ χοντινυουσ ιν εα, νον−εµπτψ,
χοµπαχτ, ανδ χονϖεξ−ϖαλυεδ. Ηενχε, ωε χαν αππλψ Βεργε�σ Μαξιµυµ Τηεορεµ ανδ

χονχλυδε τηατ φορ ανψ εα τηερε εξιστσ α σετ οφ στρατεγιεσ Ξ� (εα) ουτ οφ ωηιχη εαχη
στρατεγψ ισ παρτ οφ τηε σετ Ξ ανδ µαξιµιζεσ αγεντ Α�σ υτιλιτψ γιϖεν εα. Φυρτηερµορε,
Ξ� (εα) : Ξ ! Ξ ισ α νον−εµπτψ, χοµπαχτ, χονϖεξ−ϖαλυεδ, ανδ υππερ−ηεµιχοντινυουσ

χορρεσπονδενχε. Χονσεθυεντλψ, ωε χαν αππλψ Κακυτανι�σ Φιξεδ Ποιντ Τηεορεµ ανδ

χονχλυδε τηατ Ξ� (εα) ηασ ατ λεαστ ονε �ξεδ ποιντ.
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